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(252 | OteH | t6 3,53
Ftetso |
31 s90lsq ! IsOy g¢J Cyd| 61,49 28 22,71 M s dzdz 18,91
Slsd3.|2-ztctso dz 29 9,91 1 OdzdzO
+28,800)| ¢ o Otocls MmModzz L 3,87




(2ts2 | OtcH | t6 6,09
Ftetso |
31 s90telsq t IsOY v d Cyd| 47,67 33 15,96 M5 dzdz 7,10
tSls d3.| 2-z e ts 9 dz 34 11,18 1 O dzdzO
+28,800)| ¢ 9 Otcls moOdziz L 6,49
(2t 2 ] OteH | t6 6,94
Ftetso |
2] s90lsq 1 IsOy ¢4 €4d| 38,01 38 12,49 M s dzdz 4,27
tSls d3.| 2-z e ts 9 dz 39 13,60 1 O dzdzO
+28,800)| ¢ 9 Otcls moOdziz L 3,85
(22 ] OtcH | t6 3,80
Ftetse |
1¢ soOtelsql (dzd wJ Syd| 47,86 5 18,54 } tod m 5 10,39
0,000) sz A dzv 10,62
1 O dzdzO
mModzkz L 4,17
[ sHY (] 4,14
3¢ soOtelsql (agd w4 ¢ yd|113,41 10 20,20 } tod m 5 17,40
0,000) 13 16,75 S Iz n-dzv
15 14,00 fils s dzts 24,53
[ sHY ( 4,14
[ sHY ( 4,14
4 Odzlz L 3,16
1 ©dzdzO
mModzkzL 5,90
M5 dzdz 3,19
2 ¢ so0Otelsql (dzd wJ Syd| 71,45 20 17,62 } tod m 5 9,31
0,000) 22 18,36 S lzn~ dz¥ 10,59
4 Odzlz L 2,49
1 O ddtz0
MmMOdzlz L 4,36
f sBHY (] 4,04
[ sHY (] 4,68
1. so0Otlsql (dzd w4 ¢ yd| 49,99 28 17,89 1 tod n B 8,42
0,000) skndz 10,60




1 OdzdzO

MmMOdalz L 4,36
[ sHY (] 4,04
] sHY (] 4,68
21 s90Otelsql (dzd w4 Syd| 71,10 34 25,39 ltod R 5y 10,94
0,000) 37 13,08 f sBHY (] 4,14
skrnd 11,04
4 Odzlz L 2,42
1 ©dzdzO
MmMOdslz L 4,09
11 so0Otelsql (dz@ wJ Cyd| 5894 41 20,20 ] tod n B 13,00
0,000) [ sHY (] 4,14
sz dzv 16,04
1 OdzdzO
MmMOdslz L 5,56
1) soOtelsql (dz@ wJ S yd| 47,67 46 18,71 } e dOF &V 5,22
0,000) ] OtcH j to 1,79
sz dzv 13,00
1 OdzdzO
mModzkzL 3,93
| OtcH | t6 0,88
[ sHY ( 4,14
1¢ s90lsq ! IsOy g4 Syd| 47,86 5 18,54 ] tod n Y 10,39
tsls 3. s lz A dz¥ 10,62
+3,200) I ©dzdz0O
O dzz L 4,17
[ sHY (] 4,14
3¢ s90telsq t IsOY g J ¢ Qd|113,41 10 20,20 } tod n B 17,40
sls . 13 16,75 s Iz ~-dzv
+3,200) 15 14,00 s ts dzts 24,53
[ sHY (] 4,14
[ sHY (] 4,14
g Odzlz L 3,16
1 ©dzdzO
mMoOdslz L 5,90
M ts dzdz 3,19




2 ¢ Otclsq 1 Is Oy ¢d Syd| 71,45 20 17,62 } tod n B 9,31
tsls d3. 22 18,36 skndz 10,59
+3,200) g Odzlz L 2,49
1 ©dzdzO
mMOdzlz L 4,36
fsHY d 4,04
[ sHY (] 4,68
1. Otelsq 1 Is Oy g4 € yd| 49,99 28 17,89 1 tod n B 8,42
tsls d3. S Iz~ dz¥ 10,60
+3,200) 1 ©dzdzO
mMOdzlz L 4,36
[ sHY (] 4,04
[ sHY (] 4,68
1.1 % Otclsq 1 IsOy g¢d Syd| 71,70 34 25,39 } tod m 5 10,94
tsls 3. | sHY d 4,14
+3,200) s kzn dz¥ 11,15
d s ts dzts 13,57
g Odzlz L 2,42
1 ©dzdzO
mMoOdslz L 4,09
11 Otclsq 1 Is Oy ¢J ¢ yd| 58,94 41 20,20 } tod n BB 13,00
s ls d3. [ sHY ( 4,14
+3,200) s lz A dz¥ 16,04
1 OdzdzO
MmO dziz L 5,56
1 Otclsq 1 IsOYy g4 Syd| 47,67 46 18,71 ] tod n Y 5,22
sls d3. | OtcH | t6 1,79
+3,200) sz~ dz¥ 13,00
1 OdzdzO
MmO dziz L 3,93
] OtcH | t6 0,88
[ sHY (] 4,14
146 Otclsq 1 IsOy ¢d Cyd| 47,86 5 18,54 1 tod m 5 10,39
tsls d3. skndz 10,62
+6,400) 1 ©dzdzO
MmOdzlz L 4,17




[ sHY (] 4,14
3¢ s90lsq 1 IsOy ¢4 €yd|113,41 10 20,20 ] tod n B 17,40
tsls d3. 13 16,75 s kz n-daw
+6,40) 15 14,00 s ts dzts 24,53
[ sHY (] 4,14
[ sHY (] 4,14
4 Odzlz L 3,16
1 ©dzdzO
moOdziz L 5,90
M ts dzdz 3,19
2 ¢ s 9 0tclsd 1 IsOYy #d Syd| 71,45 20 17,62 } tod m 5 9,31
tsls d3. 22 18,36 s kzn dav 10,59
+6,400) 4 Odzlz L 2,49
1 ©dzdzO
moOdziz L 4,36
| B (d 4,04
[ sHY (] 4,68
1. s90lsq 1 IsOy g4 €yd| 49,99 28 17,89 ] tod n Y 8,42
tsls 3. s kznr dav 10,60
+6,400) 1 OdzdzO
MmO dziz L 4,36
[ sHY ( 4,04
[ sHY ( 4,68
21 s 9 0tclsd 1 IsOy ¢d Syd| 71,10 34 25,39 } tod m 5 10,94
tsls 3. 37 13,08  sHY (] 4,14
+6,400) s kzn dav 11,04
g Odzlz L 2,42
1 ©dzdzO
MmO dziz L 4,09
11 s90Otlsqg 1 Ils0Oy ¢4 Cyd| 5894 41 20,20 1 tod - 5 13,00
tsls ds. [ sHY (] 4,14
+6,400) s kzn da¥ 16,04
1 O dzdzO
MmOdzlz L 5,56
1) s 9 O0tclsd {1 IsOY #d Cyd| 47,67 46 18,71 1 tod m 5 5,22




tsls 3. | OtcH | t6 1,79
+6,400) skrd 13,00
1 ©dzdzO
Mhodzlz L 3,93
] OtcH | t6 0,88
[ sHY (] 4,14
1¢ s90lsq ! IsOy g¢J Syd| 47,86 5 18,54 } tod n B 10,39
s ls d3. s kzna da¥ 10,62
+9,600) I ©dzdz0O
M Odzlz L 4,17
[ sHY (] 4,14
3¢ s9oOtclsq 1 IsOy ¢J ¢ yd|113,41 10 20,20 } tod n B 17,40
s ls d3. 13 16,75 s kz n-daw
+9,600) 15 14,00 s ts dzts 24,53
[ sHY (] 4,14
[ sHY (] 4,14
g Odzlz L 3,16
1 ©dzdzO
MmMoOdzlz L 5,90
M ts dzdz 3,19
26 s90lsq 1 IsOy g4 Syd| 71,45 20 17,62 ] tod n Y 9,31
s ls d3. 22 18,36 s Iz a da¥ 10,59
+9,600) g Odzlz L 2,49
1l © dzuzO
MmMoOdzlz L 4,36
[ sHY ( 4,04
[ sHY (] 4,68
1. s9 Otclsq 1 sOY ¢4 Cyd| 49,99 28 17,89 1 tod n B 8,42
tsls d3. sz A dzv 10,60
+9,600) 1 ©dzdzO
M Odzlz L 4,36
[ sHY (] 4,04
[ sHY (] 4,68
21 s9 Otclsd 1 sOY g4 Syd| 71,10 34 25,39 } tod n B 10,94
tsls 3. 37 13,08 [ sHY ( 414
slkzn dz 11,04




+9,600) 4 Odzlz L 2,42
1 O dzdzO
moOdziz L 4,09
11 s90telsq 1 IsOYy ¢J ¢ yd| 58,94 41 20,20 } tod n B 13,00
tsls 3. f sBHY (] 4,14
+9,600) s kzn dz¥ 16,04
1 O dzdzO
moOdziz L 5,56
1) s9Otclsq 1 IsOy g4 Syd| 47,67 46 18,71 } tod n B 5,22
tsls 3. ] OteH j to 1,79
+9,600) s kznr dzv 13,00
1 O dzdzO
moOdziz L 3,93
] OtcH | t6 0,88
[ sHY (] 4,14
1¢ s90lsq 1 IsOy ¢j Syd| 47,86 5 18,54 1 tod n B 10,39
tsls 3. s kzn dz¥ 10,62
+12,800) 1 ©dzdzO
mMoOdslz L 4,17
 sHY (] 4,14
3¢ s 9 0tclsd 1 IsOYy ¢J €yd|113,41 10 20,20 } tod m 5 17,40
sls.d3 13 16,75 s Iz n-dzw
+12,800) 15 14,00 Mmis ts dzts 24,53
[ sHY ( 4,14
[ sHY ( 4,14
4 Odzlz L 3,16
1 ©dzdzO
fl O dzlz L 5,90
M ts dzdz 3,19
2 ¢ s90Otlsqg 1 Ils0Oy ¢d Cyd| 71,45 20 17,62 1 tod - 5 9,31
sls 3. 22 18,36 s kzn da¥ 10,59
+12,800) 4 Odzlz L 2,49
1 O dzdzO
MmOdzlz L 4,36
f BHY (] 4,04
[ sHY (] 4,68




11 s 9 0tclsd 1 IsOy ¢ J Cyd| 49,99 28 17,89 1 tod m 5 8,42
sls 3. skzn dz 10,60
+12,800) 1 O dzdzO
MO dzlz L 4,36
[ sHY (] 4,04
[ sHY (] 4,68
21 s9Otclsq 1 IsOy gJ Syd| 71,10 34 25,39 } tod n B 10,94
s ls d3. 37 13,08 [ sHY (] 4,14
+12,800) s kzna da¥ 11,04
g Odzlz L 2,42
1 O dzdzO
moOdziz L 4,09
11 s9oOtclsq 1 IsOy ¢J ¢ yd| 58,94 41 20,20 } tod n B 13,00
tsls 3.  sHY (] 4,14
+12,800) s kzn dav 16,04
1 O dzdzO
moOdziz L 5,56
1] s9oOtclsq 1 IsOy g J Swydq 47,67 46 18,71 1 tod m 5 5,22
tsls 3. ] OtcH | t6 1,79
+12,800) s kzna dz¥ 13,00
1 O dzdzO
moOdziz L 3,93
] OtcH | t6 0,88
[ sHY (] 4,14
1¢ s 9 O0tclsd 1 IsOy ¢J Syd| 47,86 5 18,54 1 tod n B 10,39
tsls 3. s kzna dz¥ 10,62
+16,000) 1 O dzdz0O
moOdziz L 4,17
[ sHY (] 4,14
3¢ soOtelsq 1 @Y (| &4 ¢ yd|113,41 10 20,20 1 tod - 5 17,40
sls 3. 13 16,75 s Iz A-dzw
+16,000) 15 14,00 s ts dzts 24,53
[ sHY (] 4,14
[ sHY (] 4,14
b Odzlz L 3,16

1 O dzdzO




Mmodaz L 5,90
M B dzdz 3,19
2 ¢ Otelsq { IsOY | v j Syd| 71,45 20 17,62 ltednotsy 931
tsls d3. 22 18,36 s kzdgw 10,59
+16,000) 4 Odzlz L 2,49
1 ©dzdzO
MmMOdalz L 4,36
[ sHY (] 4,04
[ sHY (] 4,68
1. Otcls ¢ + Is Oy ¢ d € yd| 49,99 28 17,89 } tod m B 8,42
sls d3. s kzn dzv 10,60
+16,000) I O dzdz0®
MmMOdzlz L 4,36
[ sHY (] 4,04
| B (d 4,68
21 Otelsd { IsOY | 84 S yd| 71,10 34 25,39 lted mtsy 10,94
sls 3. 37 13,08 | su d 4,14
+16,000) skrdey 11,04
g Odzlz L 2,42
1 O dzdzO
MmMOdzlz L 4,09
11 Otelsd L IsOY | & j S yd| 5894 41 20,20 ltedmtsy 13,00
s ls d3. [ sHY (] 4,14
+16,000) skrdey 16,04
1 OdzdzO
MmO dziz L 5,56
1 Otelsd { SOy | #j S yd| 47,67 46 18,71 ltedntsy 522
s ls d3. | OtcH | t6 1,79
+16000) s krdey 13,00
1 O dzdzO
MmMOdzlz L 3,93
| OteH | t6 0,88
[ sHY (] 4,14
1¢ Otelsq 1 IsOY gj Syd| 47,86 5 18,54 1 tod n B 10,39
tsls d3 skndz 10,62




+19,200) I O©dzdz0®
MmMOdalz L 4,17
f sBHY (] 4,14
3¢ so Otelsd| 1+ IsOy ¢4 ¢ yd|113,41 10 20,20 } tod n B 17,40
tsls 3. 13 16,75 S Iz n-dzw
+19,200) 15 14,00 mis ts dzts 24,53
[ sHY (] 4,14
f sBHY (] 4,14
g Odzlz L 3,16
1 ©dzdzO
MmMOdslz L 5,90
M ts dzdz 3,19
2 ¢ s9 Otclsq + SOy g¢J Syd| 71,45 20 17,62 L [+ A S 9,31
tsls 3. 22 18,36 S Iz~ dz¥ 10,59
+19,200) 4 Odzlz L 2,49
1 ©dzdzO
mModzkzL 4,36
[ sHY (] 4,04
| B (d 4,68
1. s9 Otclsq 1 sOY ¢4 $yd| 50,18 28 16,59 ] tod n B 8,21
tsls 3. s kzn da¥ 12,22
+19,200) 1 O dzdzO
mModzkzL 4,44
f B (] 4,04
[ sHY (] 4,68
21 s90lsq 1 IsOy g4 Cyd| 71,10 34 25,39 ] tod n Y 10,94
tsls d3. 37 13,08 [ sHY (] 4,14
+19,200) s kzn dzv 11,04
g Odzlz L 2,42
1 ©dzdzO
MmMOdalz L 4,09
11 s9Otclsqg 1 sOy ¢J ¢ yd| 58,94 41 20,20 1 tod n B 13,00
sls d3. | sHY (] 4,14
+19,200) skrd 16,04
1 OdzdzO
MmMOdalz L 5,56




1) s 9 0tclsd 1 IsOy g4 Syd| 47,67 46 18,71 } tod n B 5,22
sls d3. | OtcH j to 1,79
+19,200) s kzn dz¥ 13,00
1 OdzdzO
mMOdzlz L 3,93
] OteH j to 0,88
f sBHY (] 4,14
1¢ s90lsq 1 IsOy g¢j Syd| 47,86 5 18,54 1 tod n B 10,39
sls d3. S Iz~ dz¥ 10,62
+22,400) 1 ©dzdzO
mMOdzlz L 4,17
[ sHY (] 4,14
3¢ s9oOtclsq 1 IsOy ¢J ¢ yd|113,41 10 20,20 } tod n B 17,40
tsls 3. 13 16,75 S Iz n-dzw
+22,400) 15 14,00 s ts dzts 24,53
[ sHY (] 4,14
[ sHY (] 4,14
g Odzlz L 3,16
1 ©dzdzO
mMoOdslz L 5,90
M ts dzdz 3,19
2¢ s9 Otclsd 1 sOY g4 Syd| 71,45 20 17,& ] tod n B 9,31
tsls 3. 22 18,36 s lz A dz¥ 10,59
+22,400) g Odzlz L 2,49
1 ©dzdzO
mMOdslz L 4,36
[ sHY (] 4,04
f B (] 4,68
1. s90lsq 1 IsOy g4 €yd| 49,99 28 17,89 ] tod n Y 8,42
tsls d3. s kzn da¥ 10,60
+22,400) 1 OdzdzO
MmOdzlz L 4,36
[ sHY (] 4,04
[ sHY (] 4,68
21 s90lsq 1 IsOy g4 Syd| 71,10 34 25,39 1 tod n B 10,94
tsls 3. 37 13,08 [ sHY (] 4,14




+22,400) skndz 11,04
g Odzlz L 2,42
1 ©dzdzO
MmMOdslz L 4,09
11 s 9 O0tclsd 1 IsOY ¢4 Cyd| 5894 41 20,20 } tod m 5 13,00
tsls 3. f sBHY (] 4,14
+22,400) skerdey 16,04
1 OdzdzO
moOdziz L 5,56
1 so0Otdsql IsOy g4 Syd| 47,67 46 18,71 } tod n B 5,22
s d3. | OteH j to 1,79
+22,400) s kzndgd 13,00
1 O dzdzO
f O dzlz L 3,93
| OtcH | t6 0,88
[ sHY (] 4,14
26 s90lsq ! IsOy g4 €yd| 90,85 ] tod n Y 6,15
Slsd3.|2-z s dz s z n-dzw
+25,600)| € 9 Otcls M dzts o
ar 2 ( milskzH 29,24
Fteso j 4 Odzlz L 4,40
[ d Misdz 4,37
[ sHY ( 4,14
4 ¢ soOtlsd !t IsOY | #j ¢ yd|201,43 10 20,20 ltednmtsy 17,92
slsd.|2-ztcts o dz 13 11,89 s Iz 7-dgw
+25,600)| € 9 Otcls 15 13,74 fmls ts dzts 24,54
@ar 2 [ sHY (] 4,14
Ftetso j s OB d dz 11,89
[ sHY (] 4,14
4 Odzlz L 3,29
1 O dzdzO
) O daizz. 5,90
M s dzdz 3,31
[ d Misdz 4,16
3¢ s90lsq ! IsOy g4 Cyd| 1274 23 16,40 1 tod n B 10,82
slsd3.|2-z tcts 9 dz s lz n-dzw




+25,600)| C 9 Otcls fmls ts dzts
a-r 2 ( miskzH 26,46
Ctetse j [ sHY (] 4,04
1 ©dzdzO
MmMOdalz L 5,06
[ d Misdz 4,56
f sBHY (] 4,68
21 s90lsq 1 IsOy g¢j Cyd| 84,85 1 tod n B 5,08
Sls d3.|2-z tcts 9 dz s kz n-dzw
+25,600)| C 9 Otcls s s dzts
ar 2 (MmiskzH 28,45
Ctotse j [ sHY (] 4,04
4 Odzlz L 3,22
[ d Misdz 4,89
f sBHY (] 4,68
31 s90tclsq { IsOY ¢4 € yd|132,57 35 25,39 } tod n B 9,29
tsls d3.| 2-z otz @ s z n-dzv
+25,600)| € 9 Otcls fls ts dzts 24,47
@ar 2 [ sHY (] 4,14
Ftetso J 1 OdzdzO
mModzkzL 4,09
[ d Misdz 3,7
31 s 9 O0tclsd 1 IsOy ¢4 € yd|106,77 40 20,20 } tod m 5 10,84
Sls d3.| 2-z e ts 9 dz | sHY (] 4,14
+25,600)| € 9 Otsls s kz¥dz 16,04
ar 2 g Odzlz L 5,72
Fteso j [ d Misdz 2,16
2] s90lsq 1 IsOy ¢j Cyd| 86,41 ] tod n B 4,50
Slsd3.|2-ztctso dz s kz n-daw
+25,600)| € 9 Otcls fmils s dzts
ar 2 ( mlskzH 31,40
Ptetso | [ sHY (] 4,14
1 OdzdzO
O daz L 3,93
[ d Misdz 4,43
2 ¢ s 9 Otclsd 1 IsOY ¢d Cyd| 42,55 6 13,00 M s dzdz 5,36




tsls d3.| 2-z tcts 9 dz s OB d dz 11,33
+28,800)| ¢ 9 Oftcls 1 ©dzdzO
22 MmMOdslz L 4,17
Ctetse j ] OteH | t6 8,69
4 ¢ Otelsq 1 IsOYy g¢J €yd| 88,20 10 24,05 M s dzdz 18,31
Slsd3.|2-ztctso dz 11 25,66 s @H 59 3,74
+28,800)| ¢ 9 Otcls ] OtcH j t6 3,83
(2t 2 ststed H 3,27
Ftotso j ]l ©dzdzO
MmMOdslz L 9,34
3¢ Otclsq 1 IsOy #d € yd| 5538 18 17,91 M5 dzdz 7,73
Slsd3.|2-ztctso dz 19 19,60 1 O dzdzO
+28,800)| € o Otsls moOdziz L 5,05
(22 ] OtcH | t6 5,09
Ftetso |
21 Otclsq 1 IsOy #d Cyd| 3449 23 15,72 M 5 dzdz 3,34
Sls.d3 |2-z tcts 9 dz 24 8,67 1 OdzdzO
+28,800)| € o Otsls moOdziz L 3,23
(22 ] OtcH | t6 3,53
Ctotse j
31 Otclsq 1 IsOy #d Cyd| 61,49 28 22,71 M5 dzdz 18,91
sls d3.|2-z tcts 9 dz 29 9,91 1 O dzdzO
+28,800)| C 9 Otcls @z L dzt 3,87
(22 ] OtcH | t6 6,09
totso j
31 Otclsq 1 IsOy #d Cyd| 47,67 32 15,96 M5 dzdz 7,10
Sls d3.|2-z tcts 9 dz 33 11,18 1 OdzdzO
+28,800)| € 9 Otsls MmO dziz L 6,49
(2ts 2 | OteH | t6 6,94
Ftetse |
2] Otelsq 1 IsOY g¢J €yd| 38,01 37 12,49 M s dzdz 4,27
slsd3.|2-z tcts 9 dz 38 13,60 1 O dzdzO
+28,800) | € o ©thtcT MmO dziz L 3,85
(22 J] OtcH j to 3,80

Ztetso |




16 seOtlsdl (dzd wj Cyd| 47,86 5 18,54 ltedntsy 10,39
0,000) skzndz 10,62
1 OdzdzO
O dzlz L 4,17
[ sHY (] 4,14
3¢ s90Otelsql (dz@ w4 € yd|117,58 10 19,13 1 tod R 5 17,40
0,000) 13 16,75 s z a-dzv
15 14,00 fls ts dzts 23,23
[ sHY (] 9,52
| sHY (] 5,82
4 Odzlz L 3,16
1 O dzdzO
moOdziz L 5,38
M s dzdz 3,19
20 soOtlsdl (dzd wj Cyd| 71,45 20 17,62 ltedaotsy 931
0,000) 22 18,36 sz dzv 10,59
g Odzlz L 2,49
1 O dzdzO
moOdziz L 4,36
[ sHY (] 4,04
[ sHY (] 4,68
1. s90Otelsql (dz@ w4 $ yd| 49,99 28 17,89 1 tod m s 8,42
0,000) skadw 10,60
1 OdzdzO
MmO dziz L 4,36
[ sHY ( 4,04
[ sHY (] 4,68
21 soOtlsdl (dzd wj ¢ yd| 71,10 34 25,39 lted oty 10,94
0,000) 37 13,08 [ sHY ] 4,14
s v 11,04
g Odzlz L 2,42
1 O dzdzO
MmO dziz L 4,09
1 seoOtlsdl (dz@ & j € yd| 5894 41 20,20 ltedotsy 13,00
0,000) [ sHY ] 4,14
s ko dz 16,04




1 O dzdzO
MmMOdalz L 5,56
1) s90telsql (dz@ w g S yd| 47,67 46 18,71 } tod n B 5,22
0,000) ] OtcH j t6 1,79
s 2 dgv 13,00
1 OdzdzO
MmMOdalz L 3,93
] OteH | t6 0,88
[ sHY (] 4,14
1¢ s90lsq 1 IsOy g¢j Syd| 47,86 5 18,54 1 tod n B 10,39
tsls d3. S Iz A dz¥ 10,62
+3,200) 1 O dzdzO
MmMOdzlz L 4,17
[ sHY (] 4,14
3¢ s90telsq t IsOY #J €yd|117,58 10 19,13 } tod n B 17,40
tsls 3. 13 16,75 s Iz n-dzw
+3,200) 15 14,00 s ts dzts 24,04
| B (d 9,52
[ sHY (] 5,82
g Odzlz L 3,16
1 ©dzdzO
mModzkzL 5,37
M5 dzdz 3,19
1¢* s9 Otclsd 1 sOY g4 Syd| 72,55 22 24,96 1 B8dzO
tsls 3. ftednr s 3,07
+3,200) 1 B8dzO
fils s dzts 19,91
1 sdz0 ¢ 9,44
1 ©dzdzO
MmO dziz L 6,45
[ sHY (] 4,04
| 5 HDW 4,68
1.1 s 9 O0tclsd {1 IsOY ¢ d Cyd| 49,99 28 17,89 1 tod m 5 861
sls 3. skzn dz 10,60
+3,200) 1 OdzdzO
MmMOdalz L 4,36




[ sHY (] 4,04
[ sHY (] 4,68
21 s9Otclsq 1 IsOy gJ Syd| 71,10 34 25,39 } tod n B 10,94
tsls d3. 37 13,08 | sHY d 4,14
+3,200) s kzn dz¥ 11,04
4 Odzlz L 2,42
1 ©dzdzO
MmMOdslz L 4,09
11 s90telsq 1 IsOYy #J Cyd| 58,54 41 18,25 } tod n B 13,00
tsls 3. f sBHY (] 4,14
+3,200) s kznr dzv 17,59
1 O dzdzO
MmMOdzlz L 5,56
1 s90lsq ! IsOy g4 Syd| 47,67 46 18,71 ] tod n B 5,22
sls d3. JOteH j tot 1,79
+3,200) S Iz~ dz¥ 13,00
1 OdzdzO
MmMOdslz L 3,93
] OtcH | t6 0,88
[ sHY (] 4,14
1¢ s 9 0tclsd 1 IsOy #d Cyd| 47,86 5 18,54 } tod m 5 10,39
tsls d3. s Iz~ dz¥ 10,62
+6,400) 1 OdzdzO
mModzkzL 4,17
[ sHY ( 4,14
3¢ s 9 0tclsd 1 IsOY ¢d €yd|11758 10 19,13 } tod m 5 17,40
tsls 3. 13 16,75 s Iz n-dzw
+6,400) 15 14,00 Mis ts dzts 24,04
f sBHY (] 9,52
[ sHY (] 5,82
4 Odzlz L 3,16
1 ©dzdzO
MmMOdalz L 5,37
M 5 dzdz 3,19
2 ¢ s 9 O0tclsd {1 IsOY #d Cyd| 71,45 20 17,62 1 tod m 5 9,31




tsls d3. 22 18,36 skzn dz 10,59
+6,400) 4 Odzlz L 2,49
1 ©dzdzO
moOdziz L 4,36
[ sHY (] 4,04
] sHY (d 4,68
1.1 s9Otclsq 1 IsOy g4 S yd| 49,99 28 17,89 } tod n B 8,42
tsls d3. s kzn dz¥ 10,60
+6,400) 1 OdzdzO
mMOdzlz L 4,36
[ sHY (] 4,04
[ sHY (] 4,68
21 s90lsq 1 IsOy g4 Cyd| 71,10 34 25,39 ] tod n B 10,94
tsls 3. 37 13,08 JEYdw 4,14
+6,400) s kzn dav 11,04
g Odzlz L 2,42
1 ©dzdz0O
mMOdslz L 4,09
11 s 9 0tclsd 1 IsOYy ¢4 Cyd| 5894 41 20,20 } tod m B 13,00
tsls 3.  sHY (] 4,14
+6,400) s kzn dav 16,04
1 OdzdzO
fl O dzlz L 5,56
1 s90lsq 1 IsOy g¢j Syd| 47,67 46 18,71 } tod m B 5,22
s ls d3. ] OtcH | t6 1,79
+6,400) s kzn da¥ 13,00
1 OdzdzO
fl O dzlz L 3,93
| OtcH | t6 0,88
[ sHY (] 4,14
1¢ s90lsq ! IsOy gj Syd| 47,86 5 18,54 ] tod n B 10,39
sls 3. s kzn da¥ 10,62
+9,600) 1 O dzdz0O
MmOdzlz L 4,17
[ sHY (] 4,14




3¢ s 9 0tclsd 1 IsOy ¢4 €yd|117,58 10 19,13 1 tod m 5 17,40
sls 3. 13 16,75 s bz a-dzw
+9,600) 15 14,00 s ts dzts 24,04
[ sHY (] 9,52
| sHY (] 5,82
4 Odzlz L 3,16
1 O dzdzO
MO dzlz L 5,37
M s dzdz 3,19
2 ¢ s9Otclsq 1 IsOy gJ Syd| 71,45 20 17,62 } tod n B 9,31
sls 3. 22 18,36 skzn dz 10,59
+9,600) g Odzlz L 2,49
1 O dzdzO
MO dzlz L 4,36
| HJ W 4,04
[ sHY (] 4,68
11 s 9 0tclsd 1 IsOYy ¢4 S yd| 49,99 28 17,89 1 tod n B 8,61
tsls d3. s kzna dz¥ 10,60
+9,600) 1 O dzdzO
moOdziz L 4,36
[ sHY (] 4,04
[ sHY (] 4,68
21 s 9 0tclsd 1 IsOy g¢J Syd| 71,10 34 25,39 1 tod n B 10,94
tsls d3. 37 13,08 [ sHY ] 4,14
+9,600) s kzn dav 11,04
g Odzlz L 2,42
1 O dzdzO
MO dzlz L 4,09
11 s90lsq 1 IsOy ¢4 €yd| 58,94 41 20,20 ] tod n Y 13,00
tsls 3. f sBHY (] 4,14
+9,600) skzn dz 16,04
1 O dzdzO
MmO dziz L 5,56
1] s 9 O0tclsd {1 IsOY #d Cyd| 47,67 46 18,71 1 oy O 5,22
tsls 3. | OteH | t6 1,79
skrn dz 13,00




+9,600) 1 O dzdzO
MmMOdalz L 3,93
] OteH | t6 0,88
[ sHY (] 4,14
1¢ s90lsq 1 IsOy g¢j Syd| 47,86 5 18,54 1 tod n B 10,39
sls d3. S Iz~ dz¥ 10,62
+12,800) 1 O dzdzO
MmMOdslz L 4,17
[ sHY (] 4,14
3¢ s9 Otclsq 1 sOY g4 gy |117,58 10 19,13 } tod n B 17,40
tsls d3. 13 16,75 S Iz n-dzw
+12,800) 15 14,00 fnls ts dzts 24,04
| B (d 9,52
[ sHY (] 5,82
4 Odzlz L 3,16
1 ©dzdzO
mModzkzL 5,37
M ts dzdz 3,19
2 ¢ s9 Otclsq 1 sOY g4 Syd| 71,45 20 17,62 ] tod n B 9,31
tsls d3. 22 18,36 S Iz~ dz¥ 10,59
+12,800) 4 Odzlz L 2,49
1 ©dzdzO
fn O dziz df3 4,36
f B (] 4,04
[ sHY (] 4,68
1. s90telsq 1 IsOYy g4 S yd| 49,99 28 17,89 1 tod m 5 8,61
tsls d3. s kzn dav 10,60
+12,800) 1 OdzdzO
MmMOdslz L 4,36
f sBHY (] 4,04
[ sHY (] 4,68
21 s90lsq 1 IsOy g4 Cyd| 71,10 34 25,39 ] tod n B 10,94
tsls d3. 37 13,08 [ sHY (] 4,14
+12,800) skrd 11,04
g Odzlz L 2,42

1 O dzdzO




MmMOdalz L 4,09
11 s 9 0tclsd 1 IsOYy ¢4 Cyd| 5894 41 20,20 } tod m 5 13,00
sls d3. [ sHYd 4,14
+12,800) s lkndz 16,04
1 OdzdzO
moOdziz L 5,56
1 s90lsq 1 IsOy g4 Syd| 47,67 46 18,71 } tod n B 5,22
tsls 3. | OtcH j to 1,79
+12,800) s kndz 13,00
1 OdzdzO
mModzkzL 3,93
| OtcH | t6 0,88
[ sHY (] 4,14
1¢ s90telsq t IsOY #J Syd| 47,86 5 18,54 1 tod m 5 10,39
tsls 3. S lz~ dz¥ 10,62
+16,000) | ©dzdz0O
MmMOdslz L 4,17
[ sHY (] 4,14
3¢ s90telsq {1 IsOYy #J €yd|117,58 10 19,13 1 tod m 5 17,40
tsls d3. 13 16,75 s Iz n-dzw
+16,000) 15 14,00 fls ts dzts 24,04
[ sHY ( 9,52
f B (] 5,82
g Odzlz L 3,16
1 ©dzdzO
MmO dziz L 5,37
M5 dzdz 3,19
26 s90lsq 1 IsOy g4 Syd| 71,45 20 17,62 ] tod n Y 9,31
tsls d3. 22 18,36 sz A dzv 10,59
+16,000) 4 Odzlz L 2,49
1 O d@dz ]
MmMOdzlz L 4,36
[ sHY (] 4,04
[ sHY (] 4,68
1.1 s 9 O0tclsd {1 IsOY ¢ d Cyd| 49,99 28 17,89 1 tod m 5 8,61




sls d3. skrd 10,60
+16,000) 1 ©dzdzO
moOdziz L 4,36
f sBHY (] 4,04
[ sHY (] 4,68
21 s90lsq 1 IsOy g4 Syd| 71,10 34 25,39 } tod n B 10,94
tsls d3. 37 13,08 [ sHY (] 4,14
+16,000) s kzn dz¥ 11,04
g Odzlz L 2,42
1 ©dzdzO
mMOdzlz L 4,09
11 s90telsq 1 IsOYy ¢J ¢ yd| 58,94 41 20,20 } tod n B 13,00
s ls d3. [ sHY (] 4,14
+16,000) s kznr dzv 16,04
1 OdzdzO
moOdziz L 5,56
1) s9oOtclsq 1 IsOy gJ S yd| 47,67 46 18,71 } tod n B 5,22
s ls d3. | OtcH | t6 1,79
+16,000) s kznr dav 13,00
1 OdzdzO
MmO dziz L 3,93
] OtcH | t6 0,88
[ sHY ( 4,14
1¢ s9 Otclsq 1 sOY #d Cyd| 47,86 5 18,54 ] tod n B 10,39
tsls 3. s lz A dz¥ 10,62
+19,200) 1 ©dzdzO
f O dalz L 4,17
[ sHY (] 4,14
3¢ s9oOtlsq i IlsOP| vj Cyd|117,58 10 19,13 ltednrtsy 17,40
sls . 13 16,75 s lz n-dzv
+19,200) 15 14,00 s ts dzts 24,04
f sBHY (] 9,52
[ sHY (] 5,82
g Odzlz L 3,16
1 ©dzdzO
MmOdzlz L 5,37




M B dzdz 3,19
2 ¢ Otelsq { IsOYy ¢4 Syd| 7145 20 17,62 1 tod n 5 9,31
tsls d3. 22 18,36 skndz 10,59
+19,200) 4 @iz L J 2,49
1 ©dzdz0O
MmMOdslz L 4,36
[ sHY (] 4,04
] sHY (d 4,68
11 Otcls ¢ 1 IsOy 4 S yd| 49,99 28 17,89 1 tod m 5 8,61
tsls d3. sz A dzv 10,60
+19,200) 1 OdzdzO
MmMOdzlz L 4,36
[ sHY (] 4,04
[ sHY (] 4,68
21 Otcls ¢ 1 IsOy ¢4 Syd| 71,10 34 25,39 1 tod m 5 10,94
sls d3. 37 13,08 [ sHY (] 4,14
+19,200) s kzn dav 11,04
g Odzlz L 2,42
1 O dzdzO
O dalz L 4,09
11 Otelsd L sOy | uj ¢ yd| 5894 41 20,20 ltedatsy 13,00
tsls 3. [ sHY (] 4,14
+19,200) $ zndgy 16,04
1 OdzdzO
O dalz L 5,56
1] Otelsd L SOy | & j Cyd| 47,67 46 18,71 ltedotsy 522
s . 1 OeH j to 1,79
+19,200) s kzndzv 13,00
1 OdzdzO
O dalz L 3,93
| OteH | t6 0,88
[ sHY (] 4,14
1¢ Otelsq 1 IsOY gj Syd| 47,86 5 18,54 1 tod n B 10,39
tsls d3. sz A dzv 10,62
+22,400) I O dzdz0O




MmMOdalz L 4,17
[ sHY (] 4,14
3¢ S90BJ ! IsOY ¢4 € yd|11659 10 14,26 1 tod - 5 16,66
sls d3. 13 12,39 s kz n-daw
+22,400) 15 13,10 mis ts dzts 25,80
[ sHY (] 10,50
| sHY (] 4,84
4 Odzlz L 2,29
1 ©dzdzO
MmMOdslz L 7,31
ststedH 3,12
s dzOH 5 3,04
| OtcH | t6 3,28
2 ¢ s9 Otclsq 1 sOY g4 ¢ Bd| 71,45 20 17,62 } tod n B 9,31
tsls d3. 22 18,36 sz dzv 10,59
+22,400) 4 Odzlz L 2,49
1 ©dzdz0O
mModzkzL 4,36
| B (d 4,04
[ sHY (] 4,68
1. s90lsq 1 IsOy g4 €yd| 49,99 28 17,89 ] tod n Y 842
tsls 3. s lz A dz¥ 10,60
+22,400) 1 O dzdzO
MmMOdzlz L 4,36
f B (] 4,04
[ sHY ( 4,68
21 s®telsdl 1 IsOy g4 Cyd| 71,10 34 25,39 ] tod n Y 10,94
tsls d3. 37 13,08 [ sHY (] 4,14
+22,400) sz A dzv 11,04
g Odzlz L 2,42
1 ©dzdzO
MmMOdalz L 4,09
11 s9 Otclsq 1 sOY gJ S yd| 5894 41 20,20 } tod n B 13,00
sls d3. | sHY (] 4,14
+22,400) s krdg 1604

1 OdzdzO




MmMOdalz L 5,56

1 s90lsq 1 IsOy g4 Syd| 47,67 46 18,71 ] tod n B 5,22

s ls d3. ] OtcH | t6 1,79

+22,400) s lkndz 13,00
1 OdzdzO

MmMOdslz L 3,93

] OtcH | t6 0,88

f sBHY (] 4,14

2 ¢ s9Otclsq L IsOy ¢4 ¢yd| 90,85 } tod n B 6,15
Sls d3.| 2-z tcts 9 dz s z a-dzw
+25,600)| € 9 Otcls fls ts dzts

(1-r ( mlskzH 29,24

Fteso j 4 Odzlz L 4,40

[ d Misdz 4,37

[ sHY (] 4,14

4 ¢ s90lsq 1 IsOy ¢ J € yd|208,57 10 19,13 1 tod n B 17,92
Slsd3.|2-2tcts 9 dz 13 13,74 S Iz n-dzv

+25,600) |€ 9 Otcls d fls ts dzts 23,23

ar 2 [ sHY (] 9,52

Ftetse § dz  sHY (] 5,82

[ d Misdz 4,16

s OB d dz 11,89

4 O dzlg dz 3,29
1 OdzdzO

MmMOdzlz L 5,38

M5 dzdz 3,31

3¢ s90telsq t IsOY #J Syd| 1274 23 16,40 } tod n B 10,82
Sls d3.|2-z tcts 9 dz s z a-dzw
+25,600)| € 9 Otcls fls ts dzts

(a-r (MmiskzH 26,46

Ptetso | [ sHY (] 4,04
1 ©dzdzO

MmMOdzlz L 5,06

[ d Misdz 4,56

[ sHY (] 4,68

21 s9 Otclsq { IsOY ¢J S yd| 84,85 1 tod m 5 5,08




tsls d3.| 2-z tcts 9 dz s kz n-dzw
+25,600)| C 9 Otcls fmls ts dzts
ar 2 ( mlskzH 28,45
Ctetse | [ sHY (] 4,04
4 Odzlz L 3,22
[ d Misdz 4,89
f sBHY (] 4,68
3.1 s90lsq 1 IsOy g j§dw | 132,57 35 25,39 1 tod n B 9,29
Sls d3.|2-z tcts 9 dz s kz n-dzw
+25,600)| C 9 Otcls s s dzts 24,47
ar 2 [ sHY (] 4,14
Ftetso J 1 OdzdzO
MmMOdslz L 4,09
[ d Misdz 3,7
31 s90telsq t IsOY ¢4 € yd|106,77 40 20,20 } tod n B 10,84
tSls d3.| 2-z e ts 9 dz | sHY (] 4,14
+25,600)| € 9 Otcls S Iz~ dz¥ 16,04
ar 2 g Odzlz L 5,72
Ptetso J [ d mMsdz 2,16
2] s90lsq 1 IsOy ¢j Cyd| 86,41 1 tod n B 4,50
Sls d3.| 2-z e ts 9 dz s kz n-daw
+25,600)| € o9 Otcls fls ts dzts
ar 2 ( mlskzH 31,40
Fteso j§ f B (] 4,14
1 OdzdzO
mModzkzL 3,93
[ d Misdz 4,43
26 s9o0tdsql IsOy ¢J Cyd| 42,55 6 13,00 M ts dzdz 5,36
tslsd3.|2-z tcts 0 dz s OB ( dz 11,33
+28,800) | C 9 Otcls 1 OdzdzO
22 MmOdzlz L 4,17
Ftetse | ] OtcH | t6 8,69
4 ¢ s 9 Otclsd 1 IsOY ¢d Cyd| 91,18 10 23,22 M s dzdz 18,31
slsd3.|2-z tcts 9 dz 11 24,86 s zZOH 5 3,74
+28,800)| € 9 Otcls J] OtcH j to 3,83
22 ststedH 3,27




Ftotso j 1 O dzdzO
MmMOdalz L 9,35
1 0dz€ 5
(S W. 4,60
3¢ Otelsq 1 IsOYy g¢J €yd| 55,38 3 18 17,91 M s dzdz 7,73
Sls d3.|2-z tcts 9 dz 19 19,60 1 OdzdzO
+28,800)| € 9 Otscls mMOdzlz L 5,05
(2t 2 ] OteH | t6 5,09
Ctetse j
21 Otelsq 1 Is Oy gJ Cyd| 34,49 2 23 15,72 M s dzdz 3,34
sls d3.|2-z tcts 9 dz 24 8,67 1 OdzdzO
+28,800)| € o Otsls moOdziz L 3,23
2t 2 ] OtcH j to 3,53
Ctotse j
31 Otclsq 1+ IsOy #d Syd| 61,49 3 28 22,71 M ts dzdz 18,91
Sls d3.|2-z tcts 9 dz 29 9,91 1 OdzdzO
+28,800)| € o Otsls moOdziz L 3,87
22 ] OtcH j to 6,09
Ctotse j
31 Otelsq 1 IsOY g4 Syd| 47,67 3 33 15,96 M s dzdz 7,10
Sls d3.|2-z tcts 9 dz 34 11,18 1 OdzdzO
+28,800)| ¢ 9 Otcls mMOdslz L 6,49
(2ts 2 | OtcH | t6 6,94
totso j
21 Otclsq 1+ IsOy ¢J $yd| 38,01 3 38 12,49 M ts dzdz 4,27
Sls.d3 |2-ztcts o dz 39 13,60 1 OdzdzO
+28,800)| ¢ 9 Otcls mMOdslz L 3,85
(2t 2 ] OtcH j to 3,80
Ftetso |
1 dzeR€
146 Otelsql (dzg w4 €S yd| 47,86 1 5 18,54 1 tod m 5 10,39
0,000) sz A dzv 10,62
1 OdzdzO
MmMOdalz L 4,17




[ sHY (] 4,14
3¢ s90Otelsql (dz@ uj € yd|118,24 10 19,13 1 tod R 5 17,40
0,000) 13 16,75 s z n-dzv
15 14,00 fiyls ts dzts 23,51
[ sHY (] 9,52
[ sHY (] 5,82
4 Odzlz L 3,32
1 ©dzdzO
MmMOdslz L 5,60
M s dzdz 3,19
20 soOtlsdl (dzd w4 Cyd| 7215 20 17,62 1t 05y 8,95
0,000) 22 18,36 sz dzv 10,91
4 Odzlz L 3,05
1 O dzdzO
O dalz L 4,54
| B (d 4,04
[ sHY (] 4,68
1. s90telsql (dzg w4 € yd| 50,48 28 17,89 1 tod m 5 8,42
0,000) skadw 1091
1 OdzdzO
fn © dzlz L 4,54
[ sHY ( 4,04
[ sHY ( 4,68
21 seoOtlsdl (dzd wuj € yd| 72,05 34 24,17 lted oty 10,94
0,000) 37 13,08 [ sHYd 5,82
skhdzy 11,04
g Odzlz L 2,42
1 O dzdzO
MmO dziz L 4,58
21 soOtlsdl (dzd s Cyd| 63,65 41 18,04 |1 tedatsy
0,000) 44 10,59 Ctstcd H 8,58
[ sHY (] 9,52
s ko dz 11,30
1 OdzdzO
O dalz L 3,69




g Odzlz L 1,91
1) s90Otelsql (dz@ wj S yd| 47,67 46 18,71 1 tod R 5 5,22
0,000) | OtcH | to 1,79
skzn dz 13,00
1 OdzdzO
moOdziz L 3,93
] OtcH | t6 0,88
[ sHY (] 4,14
1¢ s9Otclsq L IsOy g¢J Syd| 47,86 5 18,54 } tod n B 1039
tsls d3. S Iz~ dz¥ 10,62
+3,200) 1 ©dzdz0O
moOdziz L 4,17
[ sHY (] 4,14
3¢ s90telsq 1 IsOYy ¢J ¢ yd|117,32 10 19,13 } tod n B 17,40
tsls d3. 13 16,75 s kz n-daw
+3,200) 15 14,00 fls ts dzts 23,16
| B (d 9,52
| B (d 5,82
g Odzlz L 3,10
1 ©dzdz0O
MmO dziz L 5,25
M5 dzdz 3,19
2 ¢ s9Otclsq 1 IsOy gJ Syd| 71,23 20 17,62 } tod n B 8,95
tsls d3. 22 18,36 s lz A dz¥ 10,50
+3,200) 4 Odzlz L 2,76
1 ©dzdzO
MmO dziz L 4,32
[ sHY ( 4,04
[ sHY (] 4,68
1. s90Otlsqg 1 Ils0Oy ¢d Cyd| 49,85 28 17,89 1 tod - 5 8,42
tsls d3. sz A dzv 10,50
+3,200) 1 OdzdzO
MmOdzlz L 4,32
[ sHY (] 4,04
[ sHY (] 4,68




21 s 9 0tclsq s Oy ¢d Cyd| 70,98 34 23,69 1 tod m 5 10,94
tsls d3. 37 13,08 | sHY (] 5,82
+3,200) s kzn dz¥ 11,04
g Odzlz L 2,42
1 ©dzdzO
MmMOdslz L 3,99
2 | s9Otclsq 1 IsOy g4J Syd| 62,56 41 18,04 Jted m 5
tsls d3. 44 10,59 Ctstod H 1 8,58
+3,200) J sHYd 9,52
skzn dz 10,91
1 O dzdzO
mMoOdslz L 3,01
o Oz j ( 1,91
1) s 9 Otclsd 1 IsOYy #d Cyd| 47,67 46 18,71 } tod m 5 5,22
sls d3. | OtcH | t6 1,79
+3,200) s kzn dav 13,04
1 OdzdzO
f O dzlz L 3,93
| OtcH | t6 0,88
[ sHY (] 4,14
1¢ s90lsq ! IsOy g4 Syd| 47,86 5 18,54 1 to d ~ORY 10,39
tsls d3. s lz A dz¥ 10,62
+6,400) I ©dzdz0O
f O dalz L 4,17
[ sHY (] 4,14
3¢ s9OtlsqiIlsOy | wj Cyd|117,32 10 19,13 ltednrtsy 17,40
tsls d3. 13 16,75 s Iz n-dzw
+6,400) 15 14,00 fls ts dzts 23,16
[ sHY (] 9,52
f sBHY (] 5,82
g Odzlz L 3,10
1 ©dzdzO
MmO dziz L 5,25
M s dzdz 3,19
2 ¢ s9Otclsq 1 sOy g¢J Cyd| 71,23 20 17,62 1 tod n B 8,95
tsls d3. 22 18,36 skzn dz 10,50




+6,400) 4 Odzlz L 2,76
1 O dzdzO
moOdziz L 4,32
[ sHY (] 4,04
[ sHY (] 4,68
1. s90lsq 1 IsOy ¢J €yd| 49,85 28 17,89 } tod n B 8,42
tsls d3. skzn dz 10,50
+6,400) 1 OdzdzO
moOdziz L 4,32
[ sHY (] 4,04
[ sHY (] 4,68
21 s9oOtclsq 1 IsOy g¢J Syd| 70,98 34 23,69 } tod n B 10,94
tsls d3. 37 13,08 [ sHY (] 5,82
+6,400) s kznr dzv 11,04
g Odzlz L 2,42
1 ©dzdzO
mMoOdslz L 3,99
2] s90lsq 1 IsOy g4 Cyd| 62,56 41 18,04 ] tod m BY
tsls d3. 44 10,59 ¢ ts to dtsHdE 8,58
+6,400) J sHYd 9,52
s kzn dav 10,91
1 OdzdzO
fl O dzlz L 3,01
4 Odzlz L 1,91
1) s 9 0tclsd 1 IsOy #d Cyd| 47,67 46 18,71 } tod m 5 5,22
s ls d3. | OtcH | t6 1,79
+6,400) s kzn dav 13,04
1 OdzdzO
MmO dziz L 3,93
| OteH | t6 0,88
[ sHY (] 4,14
1¢ s90lsq ! IsOy gj Syd| 47,86 5 18,54 ] tod n B 10,39
tsls d3. skzn dz 10,62
+9,600) | ©dzdz0O
o dzkz L 4,17
[ sHY (] 4,14




3¢ s 9 0tclsd 1 IsOy ¢4 Cyd|117,32 10 19,13 1 tod m 5 17,40
sls 3. 13 16,75 s kz n-dzw
+9,600) 15 14,00 s ts dzts 23,16
[ sHY (] 9,52
| sHY (] 5,82
4 Odzlz L 3,10
1 O dzdzO
MO dzlz L 5,25
M s dzdz 3,19
2 ¢ s9Otclsq 1 IsOy gJ Syd| 71,23 20 17,62 } tod n B 8,95
sls 3. 22 18,36 skzn dz 10,50
+9,600) g Odzlz L 2,76
1 O dzdzO
MO dzlz L 4,32
[ sHY (] 4,04
[ sHY (] 4,68
11 s 9 0tclsd 1 IsOYy ¢J S yd| 49,85 28 17,89 1 tod n B 8,42
tsls d3. s kzrn da¥ 10,50
+9,600) 1 O dzdzO
moOdziz L 4,32
[ sHY (] 4,04
[ sHY (] 4,68
21 s 9 0tclsd 1 IsOy ¢J Syd| 70,98 34 23,69 1 tod n B 10,94
sls 3. 37 13,08 f B (] 5,82
+9,600) s kzn dav 11,04
g Odzlz L 2,42
1 O dzdzO
MO dzlz L 3,99
2] s90lsq 1 IsOy gd Cyd| 62,56 41 18,04 1 tod n BY
tsls d3. 44 10,59 Cted H 1 8,58
+9,600) [ sHYd 9,52
skzn dz 10,91
1 O dzdzO
fn O dalz L 3,01
g Odzlz L 1,91
1] s 9 O0tclsd {1 IsOY #d Cyd| 47,67 46 18,71 1 tod m 5 5,22




tsls 3. | OtcH | t6 1,79
+9,600) skrd 13,04
1 ©dzdzO
Mhodzlz L 3,93
] OtcH | t6 0,88
[ sHY (] 4,14
1¢ s90lsq ! IsOy g¢J Syd| 47,86 5 18,54 } tod n B 10,39
s ls d3. s kzna da¥ 10,62
+12,800) 1 ©dzdzO
M Odzlz L 4,17
[ sHY (] 4,14
3¢ s9oOtclsq 1 IsOy ¢J ¢ yd|117,32 10 19,13 } tod n B 17,40
s ls d3. 13 16,75 s kz n-daw
+12,800) 15 14,00 s ts dzts 23,16
| B (d 9,52
| B (d 5,82
o O dglzdz 3,10
1 ©dzdzO
MmMoOdzlz L 5,25
M ts dzdz 3,19
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11 soOtels|1 IsOy| uj $yd|49,85 28 17,89 1 tod n 5 8,42
sls 3| skndzy 10,50
1 O dzdzO
+19,200) fn O dzlz L 4,32
[ sHY ( 4,04
[ sHY (] 4,68
21 soOtls|{1IsOxy| vj $yd|7098 34 23,69 1 tod n 5 10,94
tsls d3, 37 13,08 [ sHY d 5,82
+ skndw 11,04
19,200) b Odzlz L 2,42
1 ©dzdzO
fn O dzlz L 3,99
21 s9oOtels|1IsOxy| i $yd|6256 41 18,04 1 tedrmtsy
s ls d3| 44 10,59 Cted H 1 8,58
[ sHY (] 9,52




+19,200) skndz 10,91
1 ©dzdzO
moOdziz L 3,01
g Odzlz L 1,91
1) s90klsql IsOY | w4 Syd| 47,67 46 18,71 1 tod R 5 5,22
s ls d3. ] OteH | t6 1,79
skzn dz 13,00
+19,200) 156 otz
moOdziz L 3,93
] OtcH | t6 0,88
[ sHY (] 4,14
1¢ SoOtls|1 IsOy| v $yd|47,86 5 18,54 1 tod m 5 10,39
sls d3) sz dzV 10,62
+22,400) I © dzdz0
O dalz L 4,17
[ sHY (] 4,14
3¢ so0ls|1IsOy| 4 $yd|117,3 10 19,13 1ted n ts 17,40
sls d3. 2 13 16,75 S kz n-dgv
+22,400) 15 14,00 mis ts dzts 23,16
’ [ sHY ] 9,52
[ sHY (] 5,82
g Odzlz L 3,10
1 O dzdzO
MO dzlz L 5,25
M s dzdz 3,19
20 s9Otls|1 IsOy | ud $yd|71,23 20 17, 1 tod m 5 8,95
sls d3. 22 18,36 sz A dzv 10,50
+ 4 Odzlz L 2,76
22,400) | 0 decz0
MmO dziz L 4,32
[ sHY (] 4,04
] sHY (] 4,68
1. s9oOtels|1 IsOy| uj $yd|49,85 28 17,89 1 tod m 5 8,42
s ls d3. skzodz 10,50
1 OdzdzO
+22,400) fn O dzlz L 4,32




[ sHY (] 4,04
[ sHY (] 4,68
21 soOtls|1IsOxy| uj $yd|7098 34 23,69 ltedratsy 10,94
tsls o3 37 13,08 [ sHyd| 582
+ s kzna dz¥ 11,04
22,400) 4 Odzlz L 2,42
1 ©dzdzO
MmMOdslz L 3,99
2 | s9oOtels|1 IsOy| vj $yd|6256 41 18,04 l1todntsy
5 ls d3. 44 10,59 Cotcd H 1 8,58
+ f sBHY (] 9,52
22,400) sz dzv 10,91
1 O dzdzO
mModzkz L 3,01
4 Odzlz L 1,91
1) so0tlsq1 IsOy | vj S yd| 47,67 46 18,71 1 tod R 5 5,22
tsls o) ] OteH § to 1,79
+ sz dzV 13,00
22,400) 170 decz®
mModzkzL 3,93
| OtcH | t6 0,88
[ sHY ( 4,14
26 s90lsq ! IsOy g4 Cyd| 82,16 ] tod n Y 6,15
Sls d3.|2-z tcts 9 dz s z a-dzw
+25,600)| € o9 Otcls fls ts dzts
1+ 2 (MmisizH 29,24
o j dZ 4 Odzlz L 4,40
[ d Misdz 4,37
[ sHY (] 4,14
4 ¢ s90Otlsqg 1 Ils0Oy ¢4 € yd|208,04 10 19,13 1 tod - 5 17,08
Slsd3.|2-z tcts 9 dz 13 13,74 s Iz A-dzw
+25,600)| € 9 Otcls fls ts dzts 23,09
(1 2 [ sHyd| 952
Ptotse j ] sH d 5,82
[ 4 MisQ 4,16
s OB d dz 12,73




4 Odzlz L 3,17
1 O dzdzO

MmMOdslz L 5,17

M s dzdz 3,31

3¢ s90lsq 1 IsOy ¢4 €yd|121,91 23 16,40 1 tod n B 10,79
Sls d3.|2-z tcts 9 dz s kz n-dzw
+25,600)| C 9 Otcls s ts dzts

ar 2 ( mlskzH 26,37

Ctetse | [ sHY (] 4,04
1 ©dzdzO

MmMOdslz L 4,98

[ d Misdz 4,56

[ sHY (] 4,68

21 s90lsq 1 IsOy ¢4 €yd| 80,98 1 tod n B 5,08
tSls d3.| 2-z e ts 9 dz s kz n-daw
+25,600)| C 9 Otcls s ts dzts

ar 2 ( milskzH 28,38

Ctotse j [ sHY (] 4,04

4 Odzlz L 3,13

[ d Misdz 4,89

[ sHY (] 4,68

31 s 9 O0tclsd 1 IsOy ¢4 € yd|126,45 35 23,63 ] tod n B 9,29
s, |2-ztctso dz s kz n-dzw

+25,600)| € 9 Otcls fmils s dzts 24,47

@ar 2 f B (] 5,82
Ftotso j 1 ©dzdzO

MmMOdslz L 3,92

[ d Misdz 3,70

31 s90lsq ! IsOy ¢4 € yd|107,59 40 18,03 ] tod n Y 7,88

Sls d3.|2-z tcts 9 dz 42 10,59 | sHY (] 9,52

+25,600)| C 9 Otcls skzn dz 10,35

(1-r 2 [ 4 Misdz 3,88

FPtetsoe 4 Odzlz L 2,18

2 | s9 Otclsq { IsOY g¢J Syd| 82,61 1 tod - 5 4,50
Slsd3.|2-z tcts 9 dz s kz n-dzw
+25,600)| € 9 Otcls mis s dzts




(MmiskzH 31,40
[ sHY (] 4,14

1 OdzdzO
mMOdslz L 3,93
[ d Misdz 4,43
2 ¢ s90telsq { IsOYy 33,86 6 13,00 M5 dzdz 5,36
tsls 3. s OB ( dz 11,33

+28,800) 1 OdzdzO
MmMOdslz L 4,17
4 ¢ s90tclsq { IsOYy 91,12 9 24,13 M5 dzdz 21,59
tsls 3. 10 24,86 S zOH 5 3,62
+28,800) ststed H 3,12

1 OdzdzO
MmMOdslz L 9,20

1 Odz€ §
(S W. 4,60
3¢ s90telsq t IsOY ¢4 € yd| 50,09 16 17,91 M ts dzdz 7,69
tsls d3.|2-z tcts 0 dz s OB ( dz 19,51

+28,800)| € 9 Otcls 1 OdzdzO
(2t 2 MmO dziz L 4,98

totso j

21 sot@sdtgl 1 IsOy g4 €yd| 30,78 20 15,72 M s dzdz 3,34
tsls d3.| 2-z o ts 9 dz s OB d dz 8,59

+28,800)| € 9 Otcls 1 OdzdzO
(2t 2 MmO dziz L 3,13
3.1 s90lsq ! IsOy ¢4 €yd| 55,62 24 21,29 M s dzdz 18,91
tsls d3.|2-z tcts 0 dz s OB ( dz 9,91

+28,800)| ¢ 9 Otcls 1 ©dzdzO
MmMOdzlz L 3,69

1 0dz€ g
(St W. 1,82
31 s90lsq ! IsOy 45,16 29 23,91 ststed H 1,67
tsls d3 s OB d dz 9,81




+28,800)| C 9 Oftcls 1 ©dzdzO
(2-ts 2 mOdzlz L 7,02
Ctetse j 1 0dz€ §
(St . 2,75
2] s90ls¢1sOP| v Syd| 34,21 3 34 12,49 M s dzdz 4,27
Slsd3.|2-ztctso dz s OB d dz 13,60
+28,800) | C 9 Otcls 1 OdzdzO
(252 MmMOdslz L 3,85
Ctetse j
1 dzts&
1¢ s90tlsd { Is0Oy #J Syd) 47,86 1 5 18,54 1 tod » 5 10,39
sils d3. Sz A dzv 10,62
0,000) 1 O dzdzO
MmOadzlz L ¢ 4,17
[ sHY (] 414
3¢ s90tlsd { Is0Oy ¢ J € yd)118,02 3 10 19,13 1 tod m BY 17,40
sils 3. 13 16,75 s kzndaw
0,000) 15 14,00 Mis s dzts ¢ 23,29
| BHY (] 9,52
| BHY (] 5,82
g Odzlz L 3,32
1 ©dzdzO
MmOdziz L ¢ 5,60
M ts dzdz 3,19
26 s90tlsd 1 IsOYy g4 Sydy 72,15 2 20 17,8 1 tod m 5y 8,93
sils d3. 22 18,36 Sz A dzv 10,91
0,000) 4 Odzlz L 3,07
1 ©dzdzO
MmOdziz L ¢ 4,54
[ BHY (] 4,04
| BHY (] 4,68
1.1 s9Otclsd 1 IsOy ¢J $yd) 5048 1 28 17,89 1 tod m B 8,42
sils 3. s kznr daw 10,91
0,000) 1 O dzdzO
MOdzlz L ¢ 4,54




[ BHY ([ 4,04
[ BHY ([ 4,68
21 soOtclsd { IsOYy #d Cyd) 71,66 34 25,46 1 tod -~ 5 10,94
tsls d3. 37 13,08 [ BHY ([ 4,14
0,000) S Iz A dzv 11,04
4 Odzlz L 2,42
1 ©dzdzO
MOdzlz L ¢ 4,58
11 s9oOtclsd t IsOYy #J €yd) 59,19 41 18,25 1 tod -~ 5 13,00
tsls d3. [ sHY (] 4,14
0,000) Sz A dzv 18,08
1 ©dzdzO
MmOadzlz L ¢ 5,72
1] s 9 OdetisO 1 Is Oy gJ Sydy 47,71 46 18,71 1 tod m BY 5,22
sils 3. ] OteH | to 1,79
0,000) w 13,04
s kzn dav
1 O dzdzO 3,93
MOz L ¢ 0,88
] OteH j to 4,14
w
[ sHxd
1¢ s90tlsd 1 IsOYy g4 Sydy 47,86 5 18,54 1 tod m 5y 10,39
sils d3. S kzn dgv 10,62
+3,200) 1 OdzdzO
MoOdzlz L ¢ 4,17
[ sHY (] 4,14
3¢ s90tlsd 1 IsOYy g4 €ydy117,26 10 19,13 1 tod m 5y 17,40
sils 3. 13 16,75 s Iz n dzgv
+3,200) 15 14,00 s ts dzts 23,10
| BHY (] 9,52
| BHY (] 5,82
g Odzlz L 3,10
1 ©dzdzO
MmOdziz L ¢ 5,25
M ts dzdz 3,19




2 ¢ s 9 O0telsd { IsOy ¢ Cydy) 71,23 20 17,62 1 tod m B 8,93
tsls d3. 22 18,36 sz~ dav 10,50
+3,200) g Odzlz L 2,78

1 ©dzdzO
MmOdzlz L ¢ 4,32
[ sHY (] 4,04
[ sHY (] 4,68
1. s90tlsd 1 IsOy g¢J €yd) 50,04 28 17,89 1 tod m 5 8,61
tsls d3. S lz A dzv 10,50

+3,200) 1 O dzdzO
MmMOdzlz L ¢ 4,32
[ sHY (] 4,04
[ sHY (] 4,68
21 s 9 OtisO 1 Is Oy #d Syd) 70,92 34 25,31 1 tod m 5 10,94
sils 3. 37 13,08 [ BHY ([ 4,14
+3,200) s lzn dav 11,04
g Odzlz L 2,42

1 ©dzdzO
MmOdziz L ¢ 3,99
11 s90tlsd { Is0Oy ¢ d € yd) 58,40 41 18,25 1 tod - 5 13,00
sils d3. | BHY (] 4,14
+3,200) Sz A dzv 17,59

1 O dzdzO
M Odzlz L ¢ 5,42
1) s 9o Otclsd { IsOy gj Sydy) 47,71 46 18,71 1 tod - 5 5,22
sls d3. ] OtcH j to 1,79
+3,200) w 13,04

s kzn dgv
1 O dzdzO 3,93
MmOadzlz L ¢ 0,88
] OtcH J t6 4,14

w

[ sHY(
146 s9Otclsd 1 IsOy ¢d Cyd) 47,86 5 18,54 1 tod - Y 10,39
sils 3. s kznr daw 10,62

+6,400) 1 OdzdzO




@k L dzt 4,17
[ BHY ([ 4,14
3¢ s90tlsd { Is0Oy g4 ¢ ydy|117,26 10 19,13 1 tod m B 17,40
tsls 3. 13 16,75 s kzndaw
+6,400) 15 14,00 fls ts dzts 23,10
[ sHY (] 9,52
| sHY (] 5,82
g Odzlz L 3,10
1 ©dzdzO
MmOdzlz L ¢ 5,25
M ts dzdz 3,19
2 ¢ s9oOtclsd ! IsOY gJ Sydy 71,23 20 17,62 1 tod m BY 8,93
sils 3. 22 18,36 S lzn dav 10,50
+6,400) g Odzlz L 2,78
1 ©dzdzO
MmOdziz L ¢ 4,32
[ sHY (] 4,04
[ sHY( 4,68
11 s90tclsd 1 IsOY ¢j Cyd) 50,04 28 17,89 1 tod - 5 8,61
tsls d3. Sz A dzv 10,50
+6,400) 1 O dzdzO
MOdzkz L ¢ 4,32
[ sHY (] 4,04
[ sHY (] 4,68
21 s 9o Otclsd { IsOy ¢4 Cyd) 70,92 34 25,31 1 tod - 5 10,94
s ls d3. 37 13,08 [ sHY 4,14
+6,400) s lznr dav 11,04
g Odzlz L 2,42
1 ©dzdzO
MOdziz L ¢ 3,99
11 s90tlsd 1 IsOy ¢4 €yd)y) 58,40 41 18,25 1 tod m 5 13,00
sils d3. | BHY (] 4,14
+6,400) sz~ dav 17,59
1 O dzdzO
n Gl dzts 5,42




1) s 9 O0telsd { IsOy g¢d Cyd)y) 47,71 46 18,71 1 tod m B 5,22
tsls d3. ] OtcH | t6 1,79
+6,400) w 13,04
s kzn dgw
1 ©dzdzO 3,93
MmMOdzlz L ¢ 0,88
] OtcH j to 4,14
w
[ sHY(d
1¢ s90tlsd { Is0Oy #J CSyd) 47,86 5 18,54 1 tod ~@™ 10,39
tsils 3. S lzn dav 10,62
+9,600) 1 OdzdzO
MmOadzlz L ¢ 4,17
[ sHY (] 4,14
3¢ s90tlsd { Is0Oy ¢ d € yd)117,26 10 19,13 1 tod m BY 17,40
sils 3. 13 16,75 s kzndaw
+9,600) 15 14,00 fls ts dzts ¢ 23,10
[ sHY (] 9,52
| BHY (] 5,82
g Odzlz L 3,10
1 ©dzdzO
MmOdziz L ¢ 5,25
Mmts dzdz 3,19
26 s 9 OdclisQ 1 Is Oy g4 Cydy 71,23 20 17,62 1 tod m 5y 8,93
sils &3. 22 18,36 s lznr dav 10,50
+9,600) g Odzlz L 2,78
1 ©dzdzO
MmModzlz L ¢ 4,32
[ sHY (] 4,04
[ sHY (] 4,68
1. s9Otclsd 1 IsOy ¢4 € yd) 5004 28 17,89 1 tod m B 8,61
tsls d3. sz~ dav 10,50
+9,600) 1 O dzdzO
MOdzlz L ¢ 4,32
[ BHY (] 4,04
[ SH] W 4,68




21 s9Otlsd 1 IsOy gJ Sydy) 70,92 34 25,31 1 tod m B 10,94
tsils 3. 37 13,08 [ BHY ([ 4,14
+9,600) S lz A dzv 11,04
4 Odzlz L 2,42
1 ©dzdzO
MOdzlz L ¢ 3,99
11 s9oOtclsd t IsOYy ¢4 € yd) 58,40 41 18,25 1 tod -~ 5 13,00
sils d3. f BHY (] 4,14
+9,600) S lz A dzv 17,59
1 ©dzdzO
MmMOdzlz L ¢ 5,42
1) s90tlsd { Is0Oy v#d Sydy) 47,71 46 18,71 1 tod m BY 5,22
sils 3. ] OteH | to 1,79
+9,600) w 13,04
s kzn dav
1 O dzdzO 3,93
MOz L ¢ 0,88
] OteH j to 4,14
w
[ sHY
1¢ s90tlsd 1 IsOYy g¢j Cydy 4786 5 18,54 1 tod m 5y 10,39
sils d3. S kzn dgw 10,62
+12,800) 1 OdzdzO
MO dzlz L ( 4,17
[ sHY (] 4,14
3¢ s90tlsd 1 IsOYy g4 €ydy117,26 10 19,13 1 tod m 5y 17,40
sils &3. 13 16,75 s Iz n dzgv
+12,800) 15 14,00 Mis s dzts ¢ 23,10
| BHY (] 9,52
| BHY (] 5,82
g Odzlz L 3,10
1 ©dzdzO
MmOdziz L ¢ 5,25
M ts dzdz 3,19
26 s90tlsd 1 IsOy g4 Cydy 71,23 20 17,62 1 tod m 5 8,93
sls d3 22 18,36 S lzn dzv 10,50




+12,800) 4 Odzlz L 2,78

1 ©dzdzO
MOdzlz L ¢ 4,32
[ sHY (] 4,04
[ BHY ([ 4,68
1. s90tlsd 1 IsOy g¢J €yd) 50,04 28 17,89 1 tod m 5 8,61
tsls d3. S lzn dzv 10,50

+12,800) 1 ©d2dz

MmMOdzlz L ¢ 4,32
J sHY (] 4,04
J sHY (] 4,68
21 s90tlsd { Is0Oy #J $ydy) 70,92 34 25,31 1 tod -~ 5 10,94
tsls d3. 37 13,08 [ BHY ([ 4,14
+12,800) Sz A dzv 11,04
g Odzlz L 2,42

1 ©dzdzO
MOdzlz L ¢ 3,99
11 s90tlsd { Is0Oy ¢4 € yd) 58,40 41 18,25 1 tod » 5 13,00
tsls d3. [ sHY (] 4,14
+12,800) Sz A dzv 17,59

1 O dzdzO
MOdzkz L ¢ 5,42
14 s9oOtclsd ! IsOYy g4 Sydy 47,71 46 18,71 1 tod n B 5,22
tsls d3. ] OteH j to 1,79
+12,800) w 13,04

s kzn dav
1 O dzdzO 3,93
MOdzkz L ¢ 0,88
] OtcH j to 4,14

w

[ sHY(d
3¢ soOtelsd ! IsOP| v € ydy117,26 10 19,13 1 tod - 5 17,40

tsls 3. 13 16,75 s lz n dgv
+16,000) 15 14,00 s ts dzts 23,10
| BHY (] 9,52
[ BHY (] 5,82




# Odzlz L 3,10
1 ©dzdzO
MOdzlz L ¢ 5,25
M 1S dzdz 3,19
2 ¢ 9 Otclsd 1 Is Oy #d Sydy) 71,23 20 17,62 1 tod m Y 8,93
tsls d3. 22 18,36 s la dzw 10,50
+16,000) 4 Odzlz L 2,78
1 ©dzdzO
MOdzlz L ¢ 4,32
J sHY (] 4,04
J sHY (] 4,68
1. 9 Otclsd 1 IsOy ¢4 €yd) 5004 28 17,89 1 tod m BY 8,61
sils 3. S lzn dav 10,50
+16,000) 1 OdzdzO
MmOadzlz L ¢ 4,32
[ sHY (] 4,04
[ sHY (] 4,68
21 9 Otclsd 1 IsOy #J $ydy) 70,92 34 25,31 1 tod m BY 10,94
tsls d3. 37 13,08 | sHY (] 4,14
+16,000) Sz A dzv 11,04
g Odzlz L 2,42
1 ©dzdzO
MOdzlz L ¢ 3,99
11 9 Otclsd 1 Is Oy ¢ d € yd) 58,40 41 18,25 1 tod - 5 13,00
tsls d3. [ sHY (] 4,14
+16,000) s lznr dav 17,59
1 O dzdzO
MOdzkz L ¢ 5,42
1 9 Otclsd 1 IsOYy g4 Sydy 47,71 46 18,71 1 tod m 5 5,22
ds d3. ] OtcH J t6 1,79
+16,000) w 13,04
s kzn dgv
1 O dzdzO 3,93
MOdzlz L ¢ 0,88
] OtcH j to 4,14

w




| s q

3¢ s90tlsd 1 IsOy g Cydy117,26 10 19,13 1 tod m 5 17,40
tsls 3. 13 16,75 s kzndaw
+16,000) 15 14,00 s ts dzts 23,10
[ sHY (] 9,52
[ sHY (] 5,82
4 Odzlz L 3,10
1 ©dzdzO
MOdzlz L ¢ 5,25
M ts dzdz 3,19
2 ¢ s90tlsd { Is0Oy #d Cydy) 71,23 20 17,62 1 tod m 5 8,93
sils 3. 22 18,36 S lzn dav 10,50
+16,000) 4 Odzlz L 2,78
1 ©dzdzO
MmOdziz L ¢ 4,32
[ sHY (] 4,04
[ sHY (] 4,68
1. s9oOtclsd !t IsOY ¢J ¢ yd) 50,04 28 17,89 1 tod m BY 8,61
tsls.d3 Sz A dzv 10,50
+16,000) 1 OdzdzO
MmOadzlz L ¢ 4,32
[ sHY (] 4,04
[ sHY (] 4,68
21 s 9o Otclsd { IsOy ¢j Sydy) 70,92 34 25,31 1 tod - 5 10,94
tsls d3. 37 13,08 | sHY (] 4,14
+16,000) s lznr dav 11,04
g Odzlz L 2,42
1 ©dzdzO
MmOdziz L ¢ 3,99
11 s9Otclsd 1 IsOy ¢4 € yd) 58,40 41 18,25 1 tod - 5 13,00
sils d3. | BHY (] 4,14
+16,000) s kznr dav 17,59
1 O dzdzO
MOdzlz L ¢ 5,42
1) s9Otclsd 1 IsOy g¢d Cyd)y 47,71 46 18,71 1 tod - Y 5,22




tsls d3. ] OtcH | t6 1,79
+16,000) w 13,04
s kzn dgv
1 O dzdzO 3,93
MOdzlz L ¢ 0,88
] OtcH j to 4,14
w
[ g ¥
3¢ s90tlsd 1 IsOy g Cydy117,26 10 19,13 1 tod m 5 17,40
tsils 3. 13 16,75 s kzndaw
+19,200) 15 14,00 s ts dzts 23,10
[ sHY (] 9,52
| BHY (] 5,82
4 Odzlz L 3,10
1 ©dzdzO
MOdzlz L ¢ 5,25
M ts dzdz 3,19
2 ¢ s90tlsd { Is0Oy #d Cydy) 71,23 20 17,62 1 tod - 5 8,93
sils 3. 22 18,36 S lzn dav 10,50
+19,200) g Odzlz L 2,78
1 ©dzdzO
MmModzlz L ¢ 4,32
[ sHY (] 4,04
[ sHY (] 4,68
1. s90tlsd 1 IsOYy g¢j €yd\) 50,04 28 17,89 1 tod m 5y 8,61
tsls d3. Sz A dzv 10,50
+19,200) 1 O dzdzO
M Odzlz L ¢ 4.3
[ sHY (] 4,04
[ sHY (] 4,68
21 s9Otclsd 1 IsOy ¢d Cyd) 70,92 34 25,31 1 tod m B 10,94
tsls d3. 37 13,08 | sHY (] 4,14
+19,200) s kznr dav 11,04
g Odzlz L 2,42
1 ©dzdzO
MmOdziz L ¢ 3,99




11 s 9 O0telsd { IsOy ¢4 € yd) 58,40 41 18,25 1 tod m B 13,00
tsils 3. [ BHY ([ 4,14
+19,200) S lz A dzv 17,59
1 O dzdzO
fiPdzlz L 7 5,42
1 s90tlsd 1 IsOy g4 Sydy 47,71 46 18,71 1 tod m 5 5,22
tsils 3. ] OtcH | to 1,79
+19,200) w 13,04
s kzn dgv
1 ©dzdzO 3,93
MOdzlz L ¢ 0,88
] OteH j to 4,14
w
[ sHY(
3¢ s90tlsd { Is0Oy ¢ d € yd)117,26 10 19,13 1 tod m BY 17,40
sils 3. 13 16,75 s kzndaw
+22,400) 15 14,00 fls ts dzts ¢ 23,10
[ sHY (] 9,52
| BHY (] 5,82
g Odzlz L 3,10
1 ©dzdzO
MmOdziz L ¢ 5,25
Mmts dzdz 3,19
26 s90tlsd 1 IsOYy g4 Cydy 71,23 20 17,62 1 tod m 5y 8,93
sils &3. 22 18,36 S lzn dzv 10,50
+22,400) g Odzlz L 2,78
1 ©dzdzO
MmModzlz L ¢ 4,32
[ sHY (] 4,04
[ sHY (] 4,68
1. s9Otclsd 1 IsOy ¢4 € yd) 5004 28 17,89 1 tod - 5 8,61
tsls d3. sz~ dav 10,50
+22,400) 1 ©dzdz0®
MOdzlz L ¢ 4,32
[ BHY (] 4,04
| BHY (] 4,68




21 s9Otlsd 1 IsOy gJ Sydy) 70,92 34 25,31 1 tod m B 10,94
tsils 3. 37 13,08 [ g W 4,14
+22,400) S lz A dzv 11,04
4 Odzlz L 2,42
1 ©dzdzO
MOdzlz L ¢ 3,99
11 s9oOtclsd t IsOYy ¢4 € yd) 58,40 41 18,25 1 tod -~ 5 13,00
tsls d3. [ sHY (] 4,14
+22,400) S lz A dzv 17,59
1 ©dzdzO
MmMOdzlz L ¢ 5,42
1) s90tlsd { Is0Oy v#d Sydy) 47,71 46 18,71 1 o tsy @ 5,22
sils 3. ] OteH | to 1,79
+22,400) w 13,04
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1 O dzdzO 3,93
MOz L ¢ 0,88
] OteH j to 4,14
w
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26 s90tlsd 1 IsOYy g4 Cydy) 82,16 1 tod m 5y 6,15
tsls d3. 2- s Iz n dzv
+25,600) | z te 5 9 dzd Mmis s dzts
CoOtlsg (MmiskzH 29,24
(a-r 2 g Odzlz L 4,40
Ptetso j§ | 4 Mls dag 4,37
[ sHY (] 4,14
4 ¢ s 9o Otclsd { IsOy g4 ¢ yd)207,94 10 19,13 1 tod m B 17,08
sils &3. 2- 13 13,74 s kzndaw
+25,600) | z tc 5 9 dz mis s dzts 23,02
CoOtclsg [ BHY (] 9,52
ar 2 [ BHY (] 5,82
Ptetsoe J | 4 Mls dad 4,16
s OB d dz 12,73
g Odzlz L 3,17
1 O dzdzO
MOdzlz L ¢ 5,17




M s dzdz 3,31
3¢ s90tlsd 1 IsOy g Cydy121,91 23 16,40 1 tod m 5 10,80
tsls d3. 2- s lz n dgv
+25,600) | z tots © dzj Mls 5 dzts ¢
CoOtelsg ( miskzH 26,36
(r 2 [ sHY (] 4,04
Ftotso j 1 ©dzdzO
MOdzlz L ¢ 4,98
[ 4 Mls dag 4,56
[ BHY ([ 4,68
21 s90tclsd 1 IsOY ¢4 € ya&l\ 80,96 1 tod - 5 5,08
tsls d3. 2- s Iz n dzgv
+25,600) | z tets © dzd Mls 5 dzts ¢
CoOtclsg ( milskzH 28,37
(a-r 2 | BHY (] 4,04
Fteso j d Odziz L 3,13
[ d Mls dag 4,89
[ sHY( 4,68
31 s9O0telsd { Is0Oy #d € yd)125,99 35 25,32 1 tod - 5 9,29
tsls d3. 2- s Iz ndzv
+25,600) | Iz to ts 0 dzj s tsdzts ¢ 24,47
Co0Olsq [ sHY (] 4,14
(1 2 ] O dzdz0O
Fteso | MmOdziz L ¢ 3,92
[ 4 Mls dag 3,70
31 s90tlsd 1t Is0Oy ¢4 € yd)106,03 40 18,25 1 tod m B 10,84
sils d3. 2- | BHY (] 4,14
+25,600) | Z tcts & dzd sz dzv 17,59
CoOtelsg d Odziz L 5,42
@a-r 2 | 4 Mls dad 2,16
FPtetse |
2] s 9 OdisO 1 Is Oy gj Cydy) 8261 1 tod m 5 4,50
tsls d3. 2- s lz n dgv
+25,600) | Z tets 9 dzj mls ts dzts ¢
CoOtelsg (MmiskzH 31,40
ar 2 [ BHY (] 4,14




Ftotso j 1 O dzdzO
MOdkL ¢ 3,93
[ d Mls dag 4,43
2 ¢ 9 Otelsd 1 IsOy | 4 $yd)y 33,86 6 13,00 M5 dzdz 5,36
tsls d3. 2- s OB d dz 11,33
+28,800) | Z tc s 0 dzj 1 O dzdzO
CoOtelsg MmOdziz L ¢ 4,17
(22
z tc {5 olz'
4 ¢ 9 Otclsd 1 IsOYy g¢J Cydy 91,09 9 24,13 M ts dzdz 21,59
sls d3. 2- 10 24,86 s dzZOH 5 ¢ 3,63
+28,800) | z te 5 9 dzj s sted H 3,12
CoOtlsg 1 O dzdzO
(2-t5 2 MOdziz L ¢ 9,16
Ftctso J 1 Odz€ s
(S5 W. 4,60
3¢ 9 Otelsd 1 IsOy | 4 $yd)y 50,10 16 17,91 M s dzdz 7,70
tsls d3. 2- s OB d dz 19,51
+28,800) | Z tc s 0 dzj 1 O dzdzO
CoOtclsg MOdziz L ¢ 4,98
(2t 2
Ftotse j
21 9 Otclsd 1 IsOYy g4 Sydy 30,77 20 15,72 M ts dzdz 3,34
tsls d3. 2- s OB d dz 8,58
+28,800) | Z tc s 0 dzj 1 O dzdzO
CoOtelsg MMOdziz L ¢ 3,13
(2t 2
Ftotse j
31 9 Otclsd 1 IsOYy ¢4 €ydy) 5515 24 22,64 M ts dzdz 18,91
tsls d3. - s OB d dz 9,91
+28,800) | z tets 9 dzd 1 O dzdzO
CoOtclsg MOdzlz L ¢ 3,69
(22
tetso |
31 9 Otelsd ! IsOy | a4 Syd) 47,63 30 11,18 M ts dzdz 7,10




tsls d3. 2- s OB d dz 15,03
+28,800) | z te 5 9 dzd 1 O dzdzO
CoOtclsg MOdziz L ¢ 6,42
(2-ts 2 ] OtcH j to 7,90
Fteso j§ w
2] s90tlsd 1 IsOy g Cydy 34,21 34 12,49 M ts dzdz 4,27
tsils 3. 2- s OB d dz 13,60
+28,800) | Z tc s 0 dzj 1 O dzdzO
CoOtclsg MOdziz L ¢ 3,85
(2t 2
Ptetse |
1¢ s90tlsd { Is0Oy #J Syd) 47,86 5 18,54 1 tod -~ 5 10,39
sils 3. S lzn dzv 10,62
0,000) 1 O dzdzO
MmOadzlz L ¢ 4,17
[ sHY (] 4,14
3¢ s90tlsd { Is0Oy ¢ J € yd)113,92 10 20,20 1 tod m BY 17,40
tsils 3. 13 16,75 s lz n dzgv
0,000) 15 14,00 fls ts dzts ¢ 24,66
[ sHY (] 4,14
[ 15 HpW 4,14
g Odzlz L 3,32
1 ©dzdzO
MmOdziz L ¢ 6,12
M 5 dzdz 3,19
26 s90tlsd 1 IsOYy g4 Sydy 72,15 20 17,62 1 tod m 5y 8,93
sils &3. 22 18,36 S lzn dzv 10,91
0,000) 4 Odzlz L 3,07
1 ©dzdzO
MOdziz L ¢ 4,54
[ BHY (] 4,04
[ BHY (] 4,68
1.1 s9Otclsd 1 IsOy ¢J $yd) 5048 28 17,89 1 tod - Y 8,42
tsls.d3 S lzn dzv 10,91
0,000 1 O dzdzO
MOdzlz L ¢ 4,54




[ BHY ([ 4,04
[ BHY ([ 4,68
21 s90tlsd { Is0Oy #d Cyd) 71,66 34 25,46 1 tod -~ 5 10,94
tsls d3. 37 13,08 [ BHY ([ 4,14
0,000) S Iz A dzv 11,04
4 Odzlz L 2,42
1 ©dzdzO
MOdzlz L ¢ 4,58
11 s90tlsd { Is0Oy #J Cyd) 59,42 41 20,20 1 tod -~ 5 13,00
tsls d3. [ sHY (] 4,14
0,000) Sz A dzv 16,36
1 ©dzdzO
MmOadzlz L ¢ 5,72
1) s90tlsd { Is0Oy #d Sydy) 47,71 46 18,71 1 tod m BY 522
tsls d3. ] OteH | to 1,79
0,000) w 13,04
s kzn davw
1 O dzdzO 3,93
MOz L ¢ 0,88
] OteH j to 4,14
w
[ sHxd
1¢ s90tlsd 1 IsOYy g4 Sydy 47,86 5 18,54 1 tod m 5y 10,39
sils d3. S kzn dgw 10,62
+3,200) 1 OdzdzO
MO dzlz L ( 4,17
[ BHY (] 4,14
3¢ s90tlsd 1 IsOYy ¢4 € ydy113,07 10 20,20 1 tod m 5y 17,40
tsils 3. 13 16,75 s z n dgv
+3,200) 15 14,00 fnls toddy 24,38
[ sHY (] 4,14
[ sHY (] 4,14
g Odzlz L 3,10
1 ©dzdzO
O dalz L ¢ 5,77
M ts dzdz 3,19




2 ¢ s 9 O0telsd { IsOy ¢ Cydy) 71,23 20 17,62 1 tod m B 8,93
tsils 3. 22 18,36 sz~ dav 10,50
+3,200) g Odzlz L 2,78

1 ©dzdzO
MmOdzlz L ¢ 4,32
[ sHY (] 4,04
[ sHY (] 4,68
1. S 9 0disO 1 Is Oy g¢J €yd) 50,04 28 17,89 1 tod m 5 8,61
sils d3. S lz A dzv 10,50

+3,200) 1 ©dzdzO
MmMOdzlz L ¢ 4,32
[ sHY (] 4,04
[ sHY (] 4,68
21 s9oOtclsd t IsOY g4 Sydy 70,92 34 25,31 1 tod m B 10,94
sils 3. 37 13,08 [ BHY ([ 414
+3,200) S kzn dav 11,04
g Odzlz L 2,42

1 ©dzdzO
MOdzlz L ¢ 3,99
11 s90tlsd { Is0Oy #J €yd) 58,73 41 20,20 1 tod m BY 13,00
sils d3. | BHY (] 4,14
+3,200) Sz A dzv 15,97

1 O dzdzO
MmOadzlz L ¢ 5,42
14 s9oOtclsd ! IsOYy g4 Sydy 47,71 46 18,71 1 tod n B 5,22
sls d3. ] OtcH j t6 1,79
+3,200) w 13,04

s lzn daw
1 O dzdzO 3,93
M Odzlz L ¢ 0,88
| ®H j oS 4,14

w

[ sHY(
1¢ s90tlsd 1 IsOy g¢J Sydy 47,86 5 18,54 1 tod m 5 10,39
tsls 3. sz~ dav 10,62

+6,400) 1 OdzdzO




M Odzlz L ¢ 4,17
[ BHY ([ 4,14
3¢ s 9o Otclsd ! IsOY ¢4 ¢ yd\)113,07 10 20,20 1 tod m BY 17,40
tsls d3. 13 16,75 s Iz n dzgv
+6,400) 15 14,00 fls ts dzts 24,38
[ BHY ([ 4,14
[ BHY ([ 4,14
g Odzlz L 3,10
1 ©dzdzO
MmOdzlz L ¢ 5,77
M 1ts dzdz 3,19
2 ¢ s9oOtclsd ! IsOY gJ Sydy 71,23 20 17,62 1 tod m BY 8,93
tsls d3. 22 18,36 Sz A dzv 10,50
+6,400) 4 Odzlz L 2,78
1 ©dzdzO
MOdzlz L ¢ 4,32
[ sHY (] 4,04
| BHY (] 4,68
11 s90tclsd 1 IsOY ¢j Cyd) 50,04 28 17,89 1 tod - 5 8,61
tsils 3. S kzn dav 10,50
+6,400) ] ©dzdz0
MmMOdzlz L ¢ 4,32
[ sHY (] 4,04
[ sHY (] 4,68
21 s90tlsd 1 IsOYy g4 Cydy 70,92 34 25,31 1 tod m 5y 10,94
tsls d3. 37 13,08 | sHY (] 4,14
+6,400) Sz A dzv 11,04
g Odzlz L 2,42
1 O dziizO
MmMOdzlz L ¢ 3,99
11 s9Otclsd 1 IsOy #d Cyd) 58,73 41 20,20 1 tod - 5 13,00
tsls 3. [ BHY (] 4,14
+6,400) s kznr daw 15,97
1 O dzdzO
MOdzlz L ¢ 5,42




1) s 9 O0tclsd { IsOy gJ Sydy 47,71 46 18,71 1 tod m B 5,22
tsls d3. ] OtcH | t6 1,79
+6,400) w 13,04
s kzn dav
1 O dzdzO W 3,93
MmMOdzlz L ¢ 0,88
] OtcH j to 4,14
w
[ sHY(
1¢ s90tlsd t Is0Oy #J Cyd) 47,86 5 18,54 1 tod -~ 5 10,39
sils d3. S lz A dzv 10,62
+9,600) 1 OdzdzO
MmOadzlz L ¢ 4,17
[ sHY (] 4,14
3¢ s9oOtclsd !t IsOYy 4 € yd)113,07 10 20,20 1 tod m BY 17,40
sils d3. 13 16,75 s Iz ndzv
+9,600) 15 14,00 Mis s dzts ¢ 24,38
[ sHY (] 4,14
[ sHY (] 4,14
g Odzlz L 3,10
1 ©dzdzO
O daz L ¢ 5,77
M ts dzdz 3,19
26 s90tlsd 1 IsOYy g4 Cydy 71,23 20 17,62 1 tod m 5y 8,93
sils d3. 22 18,36 Sz A dzv 10,50
+9,600) 4 Odziz L 2,78
1 ©dzdzO
MOdzlz L ¢ 4,32
[ sHY (] 4,04
[ sHY (] 4,68
1. s90tlsd 1 IsOy g¢J €yd) 50,04 28 17,89 1 tod m 5 8,61
sils 3. s kznr daw 10,50
+9,600) 1 ©dzdz®
MOdzlz L ¢ 4,32
| BHY (] 4,04
[ BHY (] 4,68




21 s9Otlsd 1 IsOy ¢d Cydy) 70,92 34 25,31 1 tod m B 10,94
tsils 3. 37 13,08 [ BHY ([ 4,14
+9,600) S Iz A dzv 11,04
g Odzlz L 2,42
1 ©dzdzO
MOdzlz L ¢ 3,99
11 s90tlsd { Is0Oy ¢J ¢yd) 58,73 41 20,20 1 tod m B 13,00
tsls d3. [ sHY (] 4,14
+9,600) Sz dzw 15,97
1 ©dzdzO
MmMOdzlz L ¢ 5,42
1] s9oOtclsd ! IsOY gJ Sydy 47,71 46 18,71 1 tod m BY 5,22
tsls d3. ] OtcH j to 1,79
+9,600) w 13,04
s kzn davw
1 O dzdzO 3,93
MOz L ¢ 0,88
] OtcH j t6 4,14
w
[ sHY(
1¢ s 9o Otclsd { IsOy #d Cyd) 47,86 5 18,54 1 tod m B 10,39
tsls d3. Sz A dzv 10,62
+12,800) 1 O dzdzO
MO dzlz L ( 4,17
[ BHY (] 4,14
3¢ s90tlsd 1 IsOYy g4 € yd\)113,07 10 20,20 1 tod m 5y 17,40
tsls d3. 13 16,75 s Iz n dzv
+12,800) 15 14,00 Mis s dzts ¢ 24,38
[ sHY (] 4,14
[ BHY (] 4,14
g Odzlz L 3,10
1 ©dzdzO
O daz L ¢ 5,77
M s dzdz 3,19
26 s90tlsd 1 IsOYy g4 Cydy 71,23 20 17,62 1 tod m 5 8,93
tsls d3 22 18,36 sz~ dav 10,50




+12,800) 4 Odzlz L 2,78

1 O dzdzO
fiPdzlz L 7 4,32
[ sHY (] 4,04
[ BHY ([ 4,68
1.1 s9oOtclsd ! IsOY ¢J ¢ yd) 50,04 28 17,89 1 tod m B 8,61
tsls d3. s lzn dav 10,50

+12,800) 1 O dzdzO
MmMOdzlz L ¢ 4,32
[ BHY ([ 4,04
[ sHY (] 4,68
21 s9oOtclsd ! IsOY gJ Sydy 70,92 34 2531 1 tod - 5 10,94
tsls d3. 37 13,08 [ BHY (] 4,14
+12,800) Sz A dzv 11,04
g Odzlz L 2,42

1 ©dzdzO
MOdzlz L ¢ 3,99
11 s 9 Otclsd ! IsOY ¢j ¢ yd) 58,73 41 20,20 1 ted n BY 13,00
tsls d3. [ sHY (] 4,14
+12,800) S lzn dav 15,97

1 O dzdzO
MmMOdzlz L ¢ 5,42
1] s 9o Otclsd { IsOy gj Sydy) 47,71 46 18,71 1 ted n BY 5,22
tsls d3. ] OteH j to 1,79
+12,800) w 13,04

s kz R dgv
1 O dzdzO 3,93
MmOadzlz L ¢ 0,88
] OtcH j t6 4,14

w

[ sHYd
1¢ s9Otclsd 1 IsOy #d Cyd) 47,86 5 18,54 1 tod - Y 10,39
tsls d3. s kznr daw 10,62

+16,000) 1 O dzdzO
MO dzlz L ( 417
[ BHY (] 4,14




3¢ soOtlsd 1 ®y (| ¢4 ¢ yd)|113,07 10 20,20 1 tod - 5 17,40
tsls d3. 13 16,75 s kzndaw
+16,000) 15 14,00 fls ts dzts 24,38
[ BHY ([ 4,14
[ BHY ([ 4,14
g Odzlz L 3,10
1 ©dzdzO
MmOdzlz L ¢ 5,77
M 1ts dzdz 3,19
2 ¢ s 9o Otclsd ! IsOY gJ Sydy 71,23 20 17,62 1 tcdf @®W 8,93
tsls d3. 22 18,36 S lz A dzv 10,50
+16,000) g Odzlz L 2,78
1 ©dzdzO
MOdzlz L ¢ 4,32
[ sHY (] 4,04
[ sHY ([ 4,68
11 s90tclsd 1 IsOY ¢j Cyd) 50,04 28 17,89 1 tod - 5 8,61
sils 3. S lzn dav 10,50
+16,000) 1 O dzdzO
MOz L ¢ 4,32
[ sHY (] 4,04
[ sHY (] 4,68
21 s90tlsd 1 IsOYy g £ ydw| 70,92 34 25,31 1 tod m 5y 10,94
s ls d3. 37 13,08 [ sHY 4,14
+16,000) Sz A dzv 11,04
g Odzlz L 2,42
1 ©dzdzO
MOdzlz L ¢ 3,99
11 s90tlsd 1 IsOYy ¢4 Cyd)y 58,73 41 20,20 1 tod m 5y 13,00
tsils 3. [ BHY (] 4,14
+16,000) s kznr daw 15,97
1 O dzdzO
M Odzlz L ¢ 5,42
1] soO0tlsd{Is@xdg & Cydy 47,71 46 18,71 1 tod n BY 5,22
sls d3. | OtcH ] t6 1,79
+16,000) w 13,04




sz dzv

1 O dzdzO 3,93
MmMOdzlz L ¢ 0,88
] OtcH j t6 4,14
w
[ sHY(
1¢ s90tlsd { Is0Oy #J CSyd) 47,86 5 18,54 1 tod = 5 10,39
sils d3. S Iz A dzv 10,62
+19,200) 1 ©dzdzO
MmMOdzlz L ¢ 4,17
[ sHY (] 4,14
3¢ s9oOtclsd !t IsOYy ¢4 € yd)113,07 10 20,20 1 tod m BY 17,40
sils d3. 13 16,75 s Iz n dzv
+19,200) 15 14,00 fmls ts dzts 24,38
[ sHY (] 4,14
[ BHY (] 4,14
d Odzlz L 3,10
1 ©dzdzO
MmOdziz L ¢ 5,77
M ts dzdz 3,19
2¢ s o Otclsd { Is0Oy #d Cydy) 71,23 20 17,62 1 tod m B 8,93
sils d3. 22 18,36 Sz A dzv 10,50
+19,200) 4 Odziz L 2,78
1 ©dzdzO
MOdzlz L ¢ 4,32
| BHY (] 4,04
| BHY (] 4,68
1. s90tlsd 1 IsOYy g¢j €yd\) 50,04 28 17,89 1 tod m 5y 8,61
sils &3. s lznr dav 10,50
+19,200) 1 Odzdz®
M Odzlz L ( 4,32
| BHY (] 4,04
[ BHY (] 4,68
21 s90tB®d 1 IsOy g4 Sydy 70,92 34 25,31 1 tod m 5 10,94
tsls 3. 37 13,08 [ BHY (] 4,14
+19,200) S lzn dzv 11,04




g Odzlz L 2,42
1 ©dzdzO
MOdzlz L ¢ 3,99
1] 9 Otclsd 1 IsOYy ¢J Cyd)y) 58,73 41 20,20 1 tod m 5 13,00
tsls d3. [ sHY (] 4,14
+19,200) S lzn dav 15,97
1 ©dzdzO
MO dzlz L ¢ 5,42
1 9 Otclsd 1 IsOYy g4 Sydy 47,71 46 18,71 1 tod m 5 5,22
tsls d3. ] OtcH j to 1,79
+19,200) w 13,04
s kzn dav
1 O dzdzO 3,93
MmMOdzlz L ¢ 0,88
] OtcH j to 4,14
w
[ sHY(
1¢ 9 Otclsd 1 IsOy #d Syd) 47,86 5 18,54 1 tod m 5 10,39
tsls d3. Sz A dzv 10,62
+22,400) 1 O dzdzO
MOdzkz L ¢ 4,17
[ sHY (] 4,14
3¢ 9 Otclsd 1 Is Oy ¢4 ¢ yd)113,07 10 20,20 1 tod - 5 17,40
tsls d3. 13 16,75 s Iz n dzv
+22,400) 15 14,00 fmils s dzts 24,38
[ sHY (] 4,14
[ sHY (] 4,14
4 Odzlz L 3,10
1 ©dzdzO
MmMOdzlz L ¢ 5,77
M s dzdz 3,19
2 ¢ 9 Otclsd 1 s Oy ¢ Cydy) 71,23 20 17,62 1 tod - 5 8,93
sils 3. 22 18,36 s kznr daw 10,50
+22,400) 4 Odziz L 2,78
1 ©dzdzO
MmOdziz L ¢ 4,32




[ BHY ([ 4,04
[ BHY ([ 4,68
1. s90tlsd { Is0Oy ¢4 €yd) 50,04 28 17,89 1 tod m BY 8,61
tsls d3. S lz A dzv 10,50
+22,400) 1 O dzdzO
MmMOdzlz L ¢ 4,32
[ BHY ([ 4,04
 BHY (] 4,68
21 s90tlsd 1 IsOy g4 Sydy 70,92 34 25,31 1 tod m 5 10,94
tsls d3. 37 13,08 [ sHY (] 4,14
+22,400) S lzn dav 11,04
g Odzlz L 2,42
1 ©dzdzO
MOdzlz L ¢ 3,99
11 s90tlsd { Is0Oy #d Cyd) 58,73 41 20,20 1 tod m 5 13,00
sils d3. | BHY (] 4,14
+22,400) S lzn dav 15,97
1 O dz2ezOf
MOdzkz L ¢ 5,42
1) s 9o O0tclsd { IsOy #d Cydy) 47,71 46 18,71 1 tod - 5 5,22
sls d3. ] OtcH j to 1,79
+22,400) w 13,04
s kzn dgv
1 O dzdzO 3,93
MOdzlz L ¢ 0,88
] OteH j to 4,14
w
[ sHY(
2 ¢ s9Otclsd 1 IsOy ¢d Cyd) 82,16 1 tod - Y 6,15
tsls d3. 2- s Iz n dzgv
+25,600) | z tc 5 9 dzd Mmis 5 dzts ¢
COtclsd ( miskzH 29,24
(1 2 o Odzlz L 4,40
Fteso j [ 4 Mmls daq 4,37
[ BHY (] 4,14




4 ¢ s 9 O0tclsd { IsOy ¢4 € yd)200,80 10 20,20 1 tod - 5 17,08
tsls d3. - 13 13,74 s lz n dgv

+25,600) | z tc 5 9 dz mis s dzts 24,31

CoOtlsg | 5 HW 4,14

ar 2 [ BHY ([ 4,14

Ftetsoe J | 4 Mls dag 4,16

s OB d dz 12,73

4 Odzlz L 3,17
1 O dzdzO

MOdzlz L ¢ 5,69

M5 dzdz 3,31

3¢ s90tlsd { Is0Oy #d € ydy121,91 23 16,40 1 tod - 5 10,80
tsls d3. 2- s Iz n dzgv
+25,600) | Zz tc 5 9 dzd Mmis s dzts

CoOtelsg ( miskzH 26,36

(a-r 2 | BHY (] 4,04
Ftotso j 1 ©dzdzO

MOdzlz L ¢ 4,98

[ d Mls dag 4,56

| BHY (] 4,68

21 s9oOtclsd ! IsOYy g4 ¢ yd) 80,96 1 tcd n B 5,08
sils 3. 2- s Iz n dzgv
+25,600) | z te ts © dzd Mmls ts dzts

CoOtelsg ( mlskzH 28,37

(a-r 2 [ sHY (] 4,04

Ftoetso j g Odzlz L 3,13

[ d Mls dag 4,89

| BHY (] 4,68

31 sOiclsdt i IlsOy ¢ d € yd)125,99 35 25,32 1 tod - 5 9,29
tsls d3. 2- s Iz n dzgv

+25,600) | z tc 5 9 dzd Mmis 5 dzts ¢ 24,47

CoOtclsg [ BHY (] 4,14
(l_r 2 JOdZdZO

Fteso j MmOdziz L ¢ 3,92

[ d Mls dag 3,70

31 s9Otclsd 1 IsOy ¢4 € yd)107,29 40 20,20 1 tod - Y 10,84

tsils 3. 2- [ BHY (] 4,14




+25,600) | z tets © dz Sz dzw 15,97
CoOtclsg g Odzlz L 5,42
a-r 2 | 4 Mls dag 2,16
o j dg
2] 9 0tclsd 1 IsOYy gj Sydy) 8261 1 tod m 5 4,50
tsls d3. 2- s lz n dzgv
+25,600) | z tots © dzj Mmls 5 dzts ¢
CoOtelsg ( MmlskzH 31,40
ar 2 [ BHY ([ 4,14
Ftotso j 1 O dzdzO
MOdzlz L ¢ 3,93
[ d Mls dag 4,43
2 ¢ o Otclsd { IsOY | uj Syd) 33,86 6 13,00 Mts dzdz 5,36
tsls d3. 2- s OB d dz 11,33
+28,800) | z tets © dz 1 O dzdzO
CoOtclsg MOdziz L ¢ 4,17
(22
Ptetse |
4 ¢ 9 Otclsd { IsOY | uj Syd) 8813 9 24,97 Mts dzdz 21,59
tsls d3. 2- 10 25,66 S ZOH 5 ¢ 3,63
+28,800) | z tc 5 9 dzd ststedH 3,12
CoOtelsg 1 O dzdzO
(2t 2 MMOdziz L ¢ 9,16
Ptetse |
3¢ 9 Otclsd 1 IsOY ¢4 €ydy 50,10 15 17,91 M ts dzdz 7,70
tsls d3. 2- s OB d dz 19,51
+28,800) | Z tc s 0 dzj 1 O dzdzO
CoOftlsg MmOdziz L ¢ 4,98
(2t 2
FPtetse |
21 9 Otelsd+ ®Y (| &4 Syd) 3077 19 15,72 M ts dzdz 3,34
tsls d3. - s OB d dz 8,58
+28,800) | z tcts 9 dzd 1 O dzdzO
CoOtlsg MOdzlz L ¢ 3,13
(22

Ptetse |




31 s 9 O0tclsd { IsOy ¢4 Cyd) 5515 23 22,64 M s dzdz 18,91
tsls d3. - s OB d dz 9,91
+28,800) | Z tc s 0 dzj 1 O dzdzO
CoOtelsg MOdzlz L ¢ 3,69
(2t 2
Ftetse |
31 s90tlsd { Is0Oy #J €yd) 48,56 27 15,96 M5 dzdz 7,10
tsls d3. 2- 28 11,18 1 O dzdzO
+28,800) | z te 5 9 dzd MmOdzlz L ¢ 6,42
Co0Owlsq ] OtcH j t6 7,90
(22 w
Ftotse j
21 s90tlsd { Is0Oy #d Cyd) 34,21 33 12,49 M 5 dzdz 4,27
tsils 3. 2- s OB d dz 13,60
+28,800) | z tets © dz 1 O dzdzO
C o Otels.g MOdziz L ¢ 3,85
(22
Ptetse |
1¢ s90tlsd { Is0Oy #d Syd) 47,86 5 18,54 1 tod m 5 10,39
tsils 3. S lzn dzv 10,62
0,000) 1 O dzdzO
MOdzkz L ¢ 4,17
[ sHY (] 4,14
3¢ s 9o Otclsd { IsOYy ¢4 ¢ yd)118,02 10 19,13 1 tod - 5 17,40
sils &3. 13 16,75 s Iz n dzgv
0,000) 15 14,00 fls ts dzts ¢ 23,29
[ sHY (] 9,52
| BHY (] 5,82
4 Odziz L 3,32
1 ©dzdzO
MOadziz L ¢ 5,60
M5 dzdz 3,19
26 s90tlsd 1 IsOy g4 Cydy 72,15 20 17,62 1 tod m 5 8,93
sils 3. 22 18,36 S lzn dzv 10,91
0,000) 4 Odzlz L 3,07

1 O dzdzO




MmMOdzlz L ¢ 4,54
[ g W 4,04
[ sHY (] 4,68
1. s90tlsd 1 IsOy ¢4J €yd\) 50,67 28 17,89 1 tod m 5 8,61
sils d3. S lz A dzv 10,91

0,000) 1 ©dzdzO
MmMOdzlz L ¢ 4,54
[ sHY (] 4,04
[ BHY ([ 4,68
21 s90tlsd 1 IsOy g¢j Sydy 71,66 34 25,46 ltcdg ®W 10,94
sils 3. 37 13,08 [ BHY ([ 4,14
0,000) s kzna dzw 11,04
g Odzlz L 2,42

1 ©dzdzO
MmOdziz L ¢ 4,58
11 s90tlsd { Is0Oy #J €yd) 59,19 41 18,25 1 tod m BY 13,00
sils d3. | BHY (] 4,14
0,000) Sz A dzv 18,08

1 O dzdzO
MmOadzlz L ¢ 5,72
14 s9Otclsd !t IsOYy g4 Sydy 47,71 46 18,71 1 tod n B 5,22
sls d3. ] OtcH j to 1,79
0,000) w 13,04

s kzn dgv
1 O dzdzO 3,93
MOdzkz L ¢ 0,88
] OteH j to 4,14

w

[ sHY(
1¢ s90tlsd 1 IsOy g4 Sydy 47,86 5 18,54 1 tod m 5 10,39
tsls 3. sz~ dav 10,62

+3,200) 1 Odzdz®
M Odzlz L ( 4,17
[ sHY (] 4,14
3¢ s90tlsd 1 IsOYy g4 Cydy117,26 10 19,13 1 tod m 5 17,40




tsls 3. 13 16,75 s kzndaw
+3,200) 15 14,00 s ts dzts 23,10
[ sHY (] 9,52
| sHY (] 5,82
4 Odzlz L 3,10
1 ©dzdzO
MOdzlz L ¢ 5,25
M ts dzdz 3,19
2 ¢ s90tlsd { Is0Oy #d Cydy) 71,23 20 17,62 1 tod m B 8,93
tsls 3. 22 18,36 S lzn dzv 10,50
+3,200) g Odzlz L 2,78
1 O da2dz fi
MmOdziz L ¢ 4,32
[ sHY (] 4,04
[ sHY( 4,68
11 s90tclsd 1 IsOY ¢j Cyd) 50,04 28 17,89 1 tod - 5 8,61
sils d3. Sz A dzv 10,50
+3,200) 1 O dzdzO
MmOadzlz L ¢ 4,32
[ sHY (] 4,04
[ sHY (] 4,68
21 s 9o Otclsd { IsOy ¢4 Cyd) 70,92 34 25,31 1 tod m B 10,94
s ls 3. 37 13,08 [ BHY 4,14
+3,200) S lzn dzv 11,04
g Odzlz L 2,42
1 ©dzdzO
MmOdziz L ¢ 3,99
11 s90tlsd { Is0Oy ¢4 € yd) 58,40 41 18,25 1 tod - 5 13,00
sils d3. | BHY (] 4,14
+3,200) S lzn dzv 17,59
1 O dzdzO
M Odzlz L ( 5,42
14 Ss9oOtclsd ! IsOy g4 ¢ ygfy 47,71 46 18,71 1 tod n B 5,22
tsls d3. ] OtcH j to 1,79
+3,200) w 13,04
s kzn dgv




1 O dzdzO 3,93
MOdzkz L ¢ 0,88
| OtcH j to 4,14
w
[ sHY(d
1¢ s90tlsd { Is0Oy #J CSyd) 47,86 5 18,54 1 tod = 5 10,39
tsils 3. S lzn dav 10,62
+6,400) 1 O dzdzO
MmMOdzlz L ¢ 4,17
[ BHY ([ 4,14
3¢ soOtlsdt Gy (| v €ydy117,26 10 19,13 1 tod m BY 17,40
sils 3. 13 16,75 s lz ndzgv
+6,400) 15 14,00 fls ts dzts ¢ 23,10
| BHY (] 9,52
| BHY (] 5,82
g Odzlz L 3,10
1 ©dzdzO
MmOdziz L ¢ 5,25
M ts dzdz 3,19
2 ¢ s90tlsd { Is0Oy #d Sydy 71,23 20 17,62 1 tod = 1) 8,93
tsls d3. 22 18,36 Sz A dzv 10,50
+6,400) g Odzlz L 2,78
1 ©dzdzO
MmModzlz L ¢ 4,32
[ sHY (] 4,04
| BHY (] 4,68
1. s o Otclsd { Is0Oy ¢4 €yd) 5004 28 17,89 1 tod - 5 8,61
sils &3. s lznr dav 10,50
+6,400) 1 O dzdzO
M Odzlz L ¢ 4,32
| BHY (] 4,04
| BHY (] 4,68
21 Ss9oOtclsd ! IsOy g4 ¢ ygfy 70,92 34 25,31 1 tod m 5 10,94
sils d3. 37 13,08 | BHY (] 4,14
+6,400) sz~ dav 11,04
g Odzlz L 2,42




1 OdzdzO

MmOdzlz L ¢ 3,99
11 s90tlsd { Is0Oy ¢J ¢yd) 5840 41 18,25 1 tod m BY 13,00
tsls d3. [ sHY (] 4,14
+6,400) S lz A dzv 17,59
1 ©dzdzO
MmMOdzlz L ¢ 5,42
1) s9oOtclsd ! IsOY gJ Sydy 47,71 46 18,71 1 tod m B 5,22
tsls d3. ] OtcH j to 1,79
+6,400) w 13,04
sz dzv
1 ©dzdzO 3,93
MmMOdzlz L ¢ 0,88
] OtcH j t6 4,14
w
[ sHY(
1¢ s90tlsd { Is0Oy gJ Syd) 47,86 5 18,54 1 tod m BY 10,39
sils d3. Sz A dzv 10,62
+9,600) 1 ©dzdzO
MmOadzlz L ¢ 4,17
[ sHY (] 4,14
3¢ s90tlsd 1 IsOYy g4 €ydy117,26 10 19,13 1 tod m 5y 17,40
sils d3. 13 16,75 s Iz n dzv
+9,600) 15 14,00 Mis s dzts ¢ 23,10
| BHY (] 9,52
[ sHY (] 5,82
g Odzlz L 3,10
1 ©dzdzO
MmOdziz L ¢ 5,25
M ts dzdz 3,19
2¢ s9Otclsd 1 IsOy ¢ Cydy) 71,23 20 17,62 1 tod m B 8,93
tsls 3. 22 18,36 sz~ dav 10,50
+9,600) 4 Odziz L 2,78
1 ©dzdzO
MOdzlz L ¢ 4,32
| BHY (] 4,04




[ BHY ([ 4,68
1. s90tlsd 1 IsOy g¢J €yd\) 50,04 28 17,89 1 tod m 5 8,61
tsils 3. S lzn dav 10,50
+9,600) 1 O dzdzO
MmMOdzlz L ¢ 4,32
[ BHY ([ 4,04
[ BHY ([ 4,68
21 s90tlsd { Is0Oy g¢J Sydy 70,92 34 25,31 1 tod m B 10,94
tsls d3. 37 13,08 [ sHY (] 4,14
+9,600) S lz A dzv 11,04
g Odzlz L 2,42
1 ©dzdzO
MOdzlz L ¢ 3,99
11 s90tlsd { Is0Oy ¢ d € yd) 58,40 41 18,25 1 tod m 5 13,00
tsls d3. [ sHY (] 4,14
+9,600) s kzna dzw 17,59
1 ©dzdzO
MOdzkz L ¢ 5,42
1 s o Otclsd 1 Is0Oy ¢4 Cyd)y) 47,71 46 18,71 1 tod - 5 5,22
tsls d3. ] OteH j to 1,79
+9,600) w 13,04
s kzn dav
1 O dzdzO 3,93
MOdzkz L ¢ 0,88
] OtcH j to 4,14
w
[ sHY(
1¢ s 9o Otclsd { IsOYy #d Cyd) 47,86 5 18,54 1 tod - 5 10,39
tsls d3. sz~ dav 10,62
+12,800) 1 O dzdzO
M Odzlz L ¢ 4,17
| 5 HpW 4,14
3¢ s9Otclsd 1 IsOy ¢J € yd)117,26 10 19,13 1 tod - Y 17,40
tsls d3. 13 16,75 s lzn~daw
+12,800) 15 14,00 fmils s dzts 23,10




[ BHY ([ 9,52
| sHY (] 5,82
4 Odzlz L 3,10
1 ©dzdzO
MmOdzlz L ¢ 5,25
M 1ts dzdz 3,19
2 ¢ s90tlsd { Is0Oy #Jgdw | 71,23 20 17,62 1 tod = 5 8,93
tsls d3. 22 18,36 S Iz A dzv 10,50
+12,800) 4 Odzlz L 2,78
1 ©dzdzO
MOdzlz L ¢ 4,32
[ sHY (] 4,04
[ sHY (] 4,68
1. s90tlsd { Is0Oy ¢4 €yd\) 5004 28 17,89 1 tod - 5 8,61
tsls d3. S lzn dzv 10,50
+12,800) | O dzdz0®
MOz L ¢ 4,32
| BHY (] 4,04
| BHY (] 4,68
21 s90tlsd { Is0Oy #J $ydy) 70,92 34 25,31 1 tod » 5 10,94
tsls d3. 37 13,08 | sHY (] 4,14
+12,800) Sz A dzv 11,04
g Odzlz L 2,42
1 ©dzdzO
MOdzlz L ¢ 3,99
11 s o Otclsd { Is0Oy ¢4 € yd) 58,40 41 18,25 1 tod m B 13,00
tsls d3. [ sHY (] 4,14
+12,800) S lzn dzv 17,59
1 O dzdzO
M Odzlz L ¢ 5,42
1) s9Otclsd 1 IsOy #d Syd) 47,71 46 18,71 1 tod m B 5,22
sls d3. ] OtcH J t6 1,79
+12,800) w 13,04
s kzn dgv
1 O dzdzO 3,93
MOdzlz L ¢ 0,88




] OtcH | t6 4,14
w
[ sHY(
1¢ s90tlsd 1 IsOy g¢j Sydy) 47,86 5 18,54 1 tod m 5 10,39
sils d3. Slz n dzgv 10,62
+16,000) 1 ©dzdzO
MmMOdzlz L ¢ 4,17
[ sHY (] 4,14
3¢ s90tlsd 1 IsOy g Cydy117,26 10 19,13 1 tod m 5 17,40
sils d3. 13 16,75 s Iz n dzgv
+16,000) 15 14,00 s s dzts 24,10
| BHY (] 9,52
[ sHY (] 5,82
4 Odzlz L 3,10
1 ©dzdzO
MOdzlz L ¢ 5,25
M ts dzdz 3,19
2 ¢ s9oOtclsd { IsOY g4 Sydy 71,23 20 17,62 1 tod m B 8,93
sils d3. 22 18,36 Sz A dzv 10,50
+16,000) 4 Odzlz L 2,78
1 ©dzdzO
MOdzlz L ¢ 4,32
| BHY (] 4,04
| BHY (] 4,68
1. s90tlsd 1 IsOYy g¢J €yd\) 50,04 28 17,89 1 tod m 5y 8,61
sils d3. Sz A dzv 10,50
+16,000) 1 OdzdzO
M Odzlz L ¢ 4,32
[ sHY (] 4,04
| 5 HpW 4,68
21 s9Otclsd 1 IsOy ¢d Cyd) 70,92 34 25,31 1 tod m B 10,94
tsls 3. 37 13,08 [ BHY (] 4,14
+16,000) s kznr daw 11,04
g Odzlz L 2,42
1 ©dzdzO
MmOdziz L ¢ 3,99




11 9 Otclsd 1 Is Oy ¢J ¢ yd) 58,40 41 18,25 1 tod m B 13,00
tsils 3. [ 5 HyW 4,14
+16,000) S Iz A dzv 17,59
1 ©dzdzO
MmMOdzlz L ¢ 5,42
1) 9 Otglsd 1 Is Oy v#d Sydy) 47,71 46 18,71 1 tod = 5 5,22
tsls d3. ] OtcH | to 1,79
+16,000) w 13,04
s kzn dav
1 ©dzdzO 3,93
MmMOdzlz L ¢ 0,88
] OteH j to 4,14
w
[ sHYd
1¢ 9 Otelsd t IsOY g4 Sydy) 47,86 5 18,54 1 tod » 5 10,39
sils d3. Sz A dzv 10,62
+19,200) 1 OdzdzO
MmOadzlz L ¢ 4,17
[ sHY (] 4,14
3¢ 9 Otelsd t IsOY ¢ d € yd)117,26 10 19,13 1 tod » 5 17,40
sils d3. 13 16,75 s kz -~ dgv
+19,200) 15 14,00 Mis s dzts ¢ 23,10
| BHY (] 9,52
| BHY (] 5,82
g Odzlz L 3,10
1 ©dzdzO
MmOdziz L ¢ 5,25
M ts dzdz 3,19
2¢ 9 Otclsd 1 IsOy #d Cydy 71,23 20 17,62 1 tod - 5 8,93
tsils 3. 22 18,36 S lzn dzv 10,50
+19,200) 4 Odziz L 2,78
1 ©dzdzO
MmMOdzlz L ¢ 4,32
[ BHY (] 4,04
| BHY (] 4,68
1. 9 Otclsd 1 IsOY g¢J €yd) 50,04 28 17,89 1 tod m 5 8,61




tsls d3. sz~ dav 10,50
+19,200) 1 @zdzOw
MmMOdzlz L ¢ 4,32
| sHY (] 4,04
| sHY (] 4,68
21 s90tlsd { Is0Oy gJ Sydy 70,92 34 25,31 1 tod m B 10,94
tsils 3. 37 13,08 [ BHY ([ 4,14
+19,200) S Iz A dzv 11,04
g Odzlz L 2,42
1 ©dzdzO
MOdzlz L ¢ 3,99
11 s90tlsd { Is0Oy #J €yd) 5840 41 18,25 1 tod m BY 13,00
tsls d3. [ sHY (] 4,14
+19,200) S kzn dav 17,59
1 O dzdzO
MOdzkz L ¢ 5,42
1] s9oOtclsd ! IsOY gJ Sydy 47,71 46 18,71 1 tod m BY 5,22
tsls d3. ] OtcH j to 1,79
+19,200) w 13,04
s zn dzv
1 O dzdzO 3,93
MOdzkz L ¢ 0,88
] OtcH j to 4,14
w
[ sHY(
1¢ soO0tlsd{Is@xdg &4 ¢ ydy 47,86 5 18,54 1 tod m B 10,39
tsls d3. Sz A dzv 10,62
+22,400) I O dzdz0
O dalz L ¢ 4,17
[ BHY (] 4,14
3¢ s9Otclsd 1 IsOy ¢J € yd)117,26 10 19,13 1 tod m B 17,40
tsls d3. 13 16,75 s lzn~daw
+22,400) 15 14,00 fmils s dzts 23,10
| BHY (] 9,52
[ BHY (] 14,00
4 Odzlz L 3,10




1 OdzdzO

MmMOdzlz L ¢ 5,25
M tHzdz 3,19
2 ¢ 9 Otelsd 1 Is Oy g¢Jj Sydy 71,23 20 17,62 1 ted n BY 8,93
sls d3. 22 18,36 s kznr daw 10,50
+22,400) g Odzlz L 2,78
1 O dzdzO
MOdzlz L ¢ 4,32
[ BHY ([ 4,04
[ BHY ([ 4,68
11 9 Otelsd 1 Is Oy ¢J ¢ yd) 50,04 28 17,89 1 tod m BY 8,61
sils 3. s kzn daw 10,50
+22,400) 1 OdzdzO
M Odzlz L ¢ 4,32
[ sHY (] 4,04
[ sHY (] 4,68
21 9 Otelsd 1 Is Oy gJ Sydy 70,92 34 25,31 1 tod m BY 10,94
tsls d3. 37 13,08 [ BHY (] 4,14
+22,400) Sz A dzv 11,04
g Odzlz L 2,42
1 OdzdzO
MOdzlz L ¢ 3,99
1] 9 Otclsd 1 Is Oy ¢j ¢S yd) 58,40 41 18,25 1 ted n BY 13,00
tsls d3. [ sHY (] 4,14
+22,400) s kzn daw 17,59
1 O dzdzO
MOdzlz L ¢ 5,42
1] 9 Otclsd 1 Is Oy gj Sydy) 47,71 46 18,71 1 ted n BY 5,22
sls d3. ] OtcH J t6 1,79
+22,400) w 13,04
Sz~ dav
1 O dzdzO 3,93
MOdzlz L ¢ 0,88
] OtcH j to 4,14

w

| s d




2 ¢ s 9 O0tclsd { IsOy gJ Sydy) 8216 1 tod - 5 6,15
tsls d3. - s lz n dgv
+25,600) | z tc 5 9 dz Mmis 5 dzts ¢

CoOtelsg (MmiskzH 29,24

a-r 2 g Odzlz L 4,40

Ftetsoe J | 4 Mls daa 4,37

[ sHY (] 4,14

4 ¢ s90tlsd 1 IsOy ¢ € yd\)|207,94 10 19,13 1 tod m 5 17,08
tsls 3. 2- 13 13,74 s kzndaw

+25,600) | z tots © dzj s ts dzts 23,02

Co0Owlsq [ sHY (] 9,52

ar 2 [ sHY (] 5,82

Fteso j | 4 Mls dad 4,16

s OB d dz 12,73

g Odzlz L 3,17
1 ©dzdzO

MmOdziz L ¢ 5,17

M 5 dzdz 3,31

3¢ s90tlsd { Is0Oy ¢ d €yd)121,92 23 16,40 1 tod m BY 10,80
tsls d3. 2- s Iz ndzv
+25,600) | z tc s © dzd fmls ts dzts ¢

CoOtelsg (MmiskzH 26,36

ar 2 [ sHY (] 4,04
Ftetso ) 1 ©dzdzO

MmModzlz L ¢ 4,98

[ d Mls dag 4,56

[ sHY (] 4,68

21 s 9 Otclsd ! IsOY ¢J Sydy) 80,96 1 tod m B 5,08
tsls d3. 2- s kzndgv
+25,600) | z tets 9 dzd fMis ts dzts ¢

CoOtclsg ( miskzH 28,37

ar 2 JsHY (] 4,04

Fteso § 4 Odziz L 3,13

[ d Mls dag 4,89

[ BHY (] 4,68

31 s9Otclsd 1 IsOy ¢ J € yd)125,99 35 25,32 1 tod - Y 9,29
tsls d3. 2- s lz n dgv




+25,600) | z tc 5 9 dzd Mmis 5 dzts ¢ 24,47
CoOtlsg [ BHY ([ 4,14
a-r 2 1 ©dzdzO
Fteso | MmOdzlz L ¢ 3,92
[ 4 Mls daa 3,70
31 sOtelsdf1 IsOy | &4 ¢ yd)106,03 40 18,25 1 tod m 5 10,84
sils d3. - J sHY (] 4,14
+25,600) | z tc 5 9 dz s kznr daw 17,59
CoOlsg d Odziz L 5,42
-+ 2 [ § fls dag 2,16
Ftetse |
21 so0Otlsd1IsOy | 4 $yd) 82,61 lted - By 4,50
tsls d3. 2- s Iz n dzv
+25,600) | Z e s 0 dzj Mmls s dzts ¢
CoOtlsd ( sk H 31,40
ar 2 [ sHY (] 4,14
Ftetso J 1 O dzdzO
MOdzlz L ¢ 3,93
[ 4 Mls daa 4,43
2 ¢ so0Otlsd1IsOy | 4 $yd) 33,86 5 11,33 M s dzdz 5,36
tsls d3. 2- 6 13,00 1 O dzdzO
+28,800) | Z tcts © dzd MOdzlz L ¢ 4,17
Co0Owlsq
(2t 2
Ftotse j
4 ¢ soOtclsd ! IsOkd & S ydl 91,09 9 24,13 M 15 dzdz 21,59
sls d3. 2- 10 24,86 s dzZOH f5 ¢ 3,63
+28,800) | Z e s 0 dzj ststedH 3,12
CoOtlsg 1 O dzdzO
(22 MOdalz L ¢ 9,16
Fteso § 1 Odz€ 5 4,60
30 soOtlsd!sOy | #j $yd) 50,10 15 17,91 M ts dzdz 7,70
sls d3. 2- s OB d dz 19,51
+28,800) | z tots 9 dzd 1 O dzdzO
CoOtclsg MOdzlz L ¢ 498

(2-ts 2




FPtetse |
21 s90tlsd 1 IsOy ¢4 Sydy 30,77 2 20 15,72 M ts dzdz 3,34
tsls d3. 2- s OB d dz 8,58
+28,800) | Z tc s 0 dzj 1 O dzdzO
CoOtclsg MOdziz L ¢ 3,13
(2t 2
Ptetse |
31 so0tlsdtIsOy | &4 §ydy 5515 3 24 22,64 M s dzdz 18,91
sls d3. 2- s OB d dz 9,91
+28,800) | e s 9 dzj 1 O dzdzO
CoOtclsg MmOdziz L ¢ 3,69
(2t 2
Ftotse j
3] soOtclsdtIsOY | #j Sydl 47,63 3 30 11,18 Mts dzdz 7,10
tsls d3. 2- 1 O dzdzO
+28,800) | Z te 5 9 dzj MmOdziz L ¢ 6,42
Co0Owlsq ] OtcH j t6 7,90
(22 w
Ftotse j
2| soOtclsdtIsOY | #j Sydly 3421 2 34 12,49 M 15 dzdz 4,27
tsls d3. 2- s OB d dz 13,60
+28,800) | z tets 9 dzd 1 O dzdzO
CoOtclsg MOdziz L ¢ 3,85
(22
Ptetse |
15.3. [B thdsedzr 7 ~OOSIsjtedMmisds Or dzi y Jdzr =
Vihdzseo | 1 OL dzOy ClsOy 1 6di3jt } dztsh OA! 1 dztsh Ot yOfglsj 2 dzj ¥y ddzts@
dzts dzg5&> tcOMf § f sHI §
j dzd W 1 O0d d3j dztso Odzd j 1 dztsh ORA 4
1 2 3 4 5 6 7
1z G
2 vty dzOY il 1 O | vj Syd 143,20
L Odz -7,350



consultantplus://offline/ref=3A93945D040493049A97AAF8F952DB58968654EFEB53B376179C23340896B3955660A81D5E2F0A27q8MDI

3 t OLHjo| 10 | ¢ Syd 19,19
Bz ¢ -7,350

4 dOdzzL d 1 © | &4 Syd 8,07
HEh jorl -7,350

5 t OLHjol 10 |l ajSyd 15,96
A4 defp& | -7,350

6 sOdzzL d 1 O | & Swyd] 5,92
HEh jorl -7,350

9 stsdBdzO|l 1 0 | w4 Syd 13,90
stcj dzi t -7,350

10 156 nte( 10 | vjSyd 17,51
M stclsd| -7,350

d dzo j dzls

15 szOHBYg 1 O 5| & Cyd 2,04

EeBtstetsy -7,350
d dze j dzls

i &/ &3i M 10 | wjCyd 13,75
-3,800

i ®BB4 Mis] 1 © 5| v Cyd 13,75
-3,800

i &/ &3i M 10 | wjCyd 13,75
-3,800

i &/ d&3i M 10 | wjCyd 13,25
-3,800

i &/ Bj |10 | & Cyd 13,25
-3,800

) B/ B3 | 1O | & Cyd 13,25
-3,800

2 ] sHMsB g4 Syd 6,21




fsdjn | 1 Ob
-3,800

3 ] sHMmBB gd Syd 6,21
fsj"jj10 6
-3,800

4 ] sHMmBB gd Syd 6,21
fsd3j"jj 10 6
-3,800

5 ] sHMmB g4 Cyd 6,21
fsRinhj10 ©
-3,800

-7 i BiM 10 sl v Cyd 13,25
-3,800

-8 B3/ BB M| 10 | g Cyd 13,25
-3,800

-9 B3/ BB M| 10 | g Cyd 13,25
-3,800

10 B3/ BB M| 10 | a4 Cyd 13,5
-3,800

11 &3/ BiM 10 sl v Cyd 13,5
-3,800

12 &3/ BiM 10 sl v Cyd 13,75
-3,800

12 1 sHmsB 10 | v Cyd 6,21
§ s bed| -3,800

13 1 sHmsB 10 | v Cyd 6,21
skl -3800

14 1 sHimsB 10 | v Cyd 6,21
fsdjh il -3800




15 1 sHufmsel 1 0 | v Cyd 6,21
f sd3d h 4| -3,800

- 13 B3/ i3d M| 1O 5| w4 Suyd 13,75
-3,800

T 14 B3/ i3d M| 1O 5| w4 Suyd 13,5
-3,800

- 15 a3/ i3d M| 1O 5| w4 Suyd 13,75
-3,800

- 16 a3/ &3gg M| 1 © | vj Cyd 13,25
-3,800

T17 a3/ d3gg M| 1 © | ¢4 Cyd 13,25
-3,800

- 18 a3/ d3gg M| 1 © | ¢4 Cyd 13,25
-3,800

2 1 sHmsB 10 | v Cyd 6,21
f s d3jdadjj -3,800

3 1 sHimsB 10 | v Cyd 6,21
f sd3d M 4| -3,800

4 1 sHimsB 10 | v Cyd 6,21
fsdjhjl -3800

5 1 sHimsB 10 | v Cyd 6,21
fsdjhjl -3800

19 a3/ &3gg M| 1 © | ¢ Cyd 13,25
-3,800

- 20 a3 &3 Mk 1 © | ¢ Cyd 13,25
-3,800

21 &3/ B3g M| 1 © | ¢4 Cyd 13,25

-3,800




22 B3/ B4 M| 10 | g Cyd 13,5
-3,800

23 a3/ d3gg M| 1 © | ¢j Cyd 13,
-3,800

24 a3/ &3gg M| 1 © | ¢j Syd 13,75
-3,800

12 1 sHmsB 10 | v Cyd 6,21
ftsdj " j| -3,800

13 1 sHfmsB 10 | v Cyd 6,21
ftsd3j " 4| -3,800

14 1 sHmsB 10 | v Cyd 6,21
ftsd3j " 4| -3,800

15 1 sHmsB 10 | v Cyd 6,21
f sd3d h j| -3,800

25 a3/ d3gg M| 1 © | 4j Syd 13,5
-3,800

26 a3 &3 Mk 1 © | & Cyd 13,
-3,800

27 &3/ BiM 10 sl ¢ CSyd 13,5
-3,800

28 a3/ d3gg M| 1 © | ¢ Cyd 13,25
-3,800

29 &3/ B3g M| 1 © | ¢4 Cyd 13,25
-3,800

30 &3/ &3dg M| 1 © | ¢ Cyd 13,25
-3,800

2 1 sHimsB 10 | v Cyd 6,21
f sd3d M 4| -3,800




3 1 sHfmse 10 | aj Cyd 6,21
ftsdj " j| -3,800

4 1 sHmse 10 | v Cyd 6,21
ftsdj " j| -3,800

5 1 sHfmse 10 | v Cyd 6,21
ftsdj " j| -3,800

31 a3/ &3gg M| 1 © | vj Cyd 13,25
-3,800

32 a3/ dgjsy| 1 © | &j Syd 13,25
-3,800

33 a3/ d3gg M| 1 © | ¢4 Cyd 13,25
-3,800

34 a3/ d3gg M| 1 © | ¢4 Cyd 13,75
-3,800

35 a3/ d3gg M| 1 © | ¢4 Cyd 13,5
-3,800

36 a3/ &3gg M| 1 © | ¢ Cyd 13,
-3,800

12 1 sHmsB| 1 GBlsdi a4 Cyd 6,21
fsdjhjl -3800

13 1 sHimsB 10 | v Cyd 6,21
fsdjhjl -3800

14 1 sHimsB 10 | v Cyd 6,21
skl -3800

15 1 sHmsB 10 | v Cyd 6,21
skl -3800

1 dzeR ¢




&3/ B M| 10 | ¢4 Cyd 13,75
-3,800

B/ Bj M| 10 8| &d Cyd 13,5
-3,800

&/ i3j M 10 | ajCyd 13,%5
-3,800

&/ Bj M| 10 8| &d Cyd 13,25
-3,800

&/ B3 M 10 | ajCyd 13,25
-3,800

&/ Bj M| 10 8| &d Cyd 13,25
-3,800

] sHfMsBl | BBIsd &4 Cyd 6,21

fsdd il -3800

1 sHimtsBl 1 O | ¢ Syd 6,21

ftsddhjl -3800

] sHfmsel 1 0 | &4 Cyd 6,21

fsddhj| -3800

1 sHfmse 10 | v Cyd 6,21

fsdd M j| -3,800

B/ By M| 10 | &fCyd 13,25
-3,800

B/ By M| 10 | & Cyd 13,25




-3,800

-9 B/ B3 | 1O | & Cyd 13,25
-3,800

- 10| B/ BifM1O | &iCyd 13,5
-3,800

Tl B/ B 1O sl wiCyd 13,5
-3,800

- 12| B ®ifl 10 | wiCyd 13,75
-3,800

12 1 sHimtsBl 1 O | 4 Syd 6,21
f sdsj " j| -3,800

13 Il sHfmtsel 1 © 5| w4 Syd 6,21
f sdsj " j| -3,800

14 1 sHfmtsBl 1 © | ¢4 Syd 6,21
f sdsj " j| -3,800

15 1 sHitsBl 1 © | ¢ Syd 6,21
f sdsj " §| -3,800

1 dze3¢

1 B/ BB M 10 | &jCyd 13,75
-3,800

T2 a3/ sts| 1 O 5| wj Cyd 13,5
-3,800

-3 i3/ BiMm| 10 sl v Cyd 13,5
-3,800

-4 i3/ 3i M| 10 sl v Cyd 13,25
-3,800

-5 B/ BifMm 10 | ajCyd 13,25

-3,800




6 a3/ B3gg M| 1 © | vj Cyd 13,25
-3,800

2 1 sHmse 10 | v Cyd 6,21
ftsdj " j| -3,800

3 1 sHfmse 10 | v Cyd 6,21
ftsdj " j| -3,800

4 1 sHmsB 10 | v Cyd 6,21
f sd3d h j| -3,800

5 1 sHfmsB 10 | v Cyd 6,21
f sd3d h j| -3,800

7 a3/ d3gg M| 1 © | ¢4 Cyd 13,25
-3,800

8 @B/ i Mm 1 O ds| ajCyd 13,25
-3,800

9 a3/ d3gg M| 1 © | ¢4 Cyd 13,25
-3,800

10 a3/ &3gg M| 1 © | ¢ Cyd 13,
-3,800

11 B3/ BB M| 10 | v Cyd 13,5
-3,800

12 B3/ BB M| 10 | v Cyd 13,5
-3,800

12 ] sHfmsel 1 0O 5| &4 € yd 6,21
fsdihj -380

13 1 sHmsB 10 | v Cyd 6,21
skl -3800

14 1 sHimsB 10 | v Cyd 6,21
fsdjh il -3800




15 ] sufmsel 1 O 5| &4 €yd 6,21
f sdsj " 4| -3,800
1 dzts&
2 1dddzt1 0 s ¢ Syd 9,00
fsdsi " §| -6,200
-2
3 1 s 1 0 sl vj Syd 9,37
fsdsi " §| -6,200
-3
4 1dddzt 1 0 s 4 Syd 9,07
fsd3j j| -6,200
T4
5 14dNddzt 1 © s vj Cyd 9,37
fsdsi " §| -6,200
-5
6 1dddzt 1 0 s ¢ Syd 9,37
fsdsi " §| -6,200
"6
7 1dNddzt 1 © sl v Cyd 4,75
fdjhj| -6200
-7
8 1dNddzt 1 © s vj Cyd 4,75
fsdd M| -6200
- 8
9 1dddazt 1 0 sl e Cyd 4,60
ftsdsj M j| -6,200
-9
10 1dNddzt 1 © sl vj Cyd 4,60
ftsdsj  j| -6,200

10




11 1dddzt 1 © sl &j Cyd 4,56
ftsdsd M j| -6,200
11

12 1ddtgz| 10 sl v Cyd 4,56
ftsdsj M j| -6,200
12

13 14dNddzt 1 © sl wj Cyd 4,60
ftsdsd M j| -6,200
13

14 1dNddzt 1 © sl vj Syd 4,60
fsdsd M j| -6,200
14

15 1dNddzt 1 © sl vj Cyd 4,75
fsdzd M j| -6,200
15

16 14dNddzt 1 © s vj Cyd 4,75
fsdzd M j| -6,200
16

17 14dNddzt 1 © s vj Cyd 9,75
fsdsj M j| -6,200
17

18 1dfddzt 1 0 s ¢ Syd 7,41
ftsdzd M j| -6,200
18

19 1dNddzt 1 © s vj Cyd 10,33
ftsdsj M j| -6,200
19

20 14ddzg 1 © s wj Cyd 9,75
ftsdsj M j| -6,200
20

21 1dNddzt 1 © sl vj Cyd 10,14
ftsdd M ji| -6,200




- 21

22 1dNddzf © sl ¢ Syd 11,44
fsdsd M j| -6,200
22
28 1iNddzt 1 0 sl wjSyd 11,22
ftsdd M j| -6,200
- 23
29 1dNddzt1 0 sl ujCyd 10,14
fsdsd M j| -6,200
- 24
30 1iddazt 1 0 sl wjCyd 9,75
f 5 d3idzdid -6,200
- 25
31 1dNddzf 0 sl v Syd 10,33
fsd3j j| -6,200
" 26
32 1ddxddzg 10 sl i Syd 7,41
fsdi | -6200
27
33 1iddazt1 0 sl wjCyd 9,75
fsd3j M j| -6,200
- 28
34 1dnddg1 0 sl ajSyd 4,75
fsd3j M j| -6,200
29
35 1indatf1 0 sl ajSyd 4,75
fsdsd M j| -6,200
- 30
36 1iddazt1 0 sl wjCyd 4,60
ftsdsj  j| -6,200

" 31




37 1dddzt 1 © sl &j Cyd 4,60
ftskd " | -6200
" 32

38 14dddzt 1 © sl wj Cyd 4,56
fddhj|l -6200
- 33

39 14dddzsg 1 © sl vj Cyd 4,56
fskd " | -6200
" 34

40 1dNddzt 1 © sl vj Syd 4,60
fsddhj| -6200
- 35

41 14dNddzt 1 © s vj Cyd 4,60
fskd " | -6200
" 36

42 1dNddzt 1 © sl v Cyd 4,75
fsd3j M j| -6,200
- 37

43 1dddztf 1 © dsl ¢ S yd 4,75
fsdd " j| -6200
- 38

44 1dNddzt 1 © s vj Cyd 9,37
ftsdd " j| -6200
© 39

45 1dfddzt 1 0 s ¢ Syd 9,37
fsd3d M j| -6,200
" 40

46 1dddzt 1 © sl &j Cyd 9,07
fsdd " j| -6200
41

47 14ddzgt 1 © s wj Cyd 9,37
ftsdd " j| -6200




T 42

48 14dNddzt 1 © s wj Cyd 9,00

fskkd " | -6200
" 43

49 1dNddzt 1 © sl vj Syd 5,25

fedihj|l -6200
T 44

1 B3/ i3d Mis| 1 0 sl &4 Syd 13,
-3,200

1 &3/ i3d Mis| 1 0 sl &4 Syd 13,
-3,200

1 &3/ i3d Mis| 1 0 sl &4 Syd 13,75
-3,200

1 B3/ BBy Mis|1 © sl vj Cyd 13,25
-3,200

1 B3/ BBg Mis|1 © sl vj Cyd 13,25
-3,200

1 B3/ BBg Mis|1 © s vj Syd 13,25
-3,200

2 ] sHfmsB| 1 0 I 4 Syd 6,21
fsdd " j| -3,200

3 ] sHfmsB| 1 0 I 4 Syd 6,21
fsdd " j| -3,200

4 1 sHmsB 1 © s v Cyd 6,21
fsdd M| -3,200

5 1 sHmse 1 © sl v Cyd 6,21
fsdd M| -3,200

11 &3/ i3 Mis| 1 0 sl &4 S yd 13,25

-3,200




11 &3/ i3d Mis| 1 0 sl &4 S yd 13,25
-3,200
11 &3/ i3 Mis| 1 0 sl &4 Syd 1325
-3,200
11 B3/ di3i Mist 1 © B v Syd 13,75
-3,200
11 B3/ di3i Mist 1 © B v Syd 13,75
-3,200
11 B3/ dizd Mist 1 © B v Syd 13,75
-3,200
12 1 sumtsBl 1 © sl &j Cyd 6,21
fsd3d M 4| -3,200
13 1 sufmtsBl 1 0O sl ¢j Yy 6,21
fsd3j M j| -3,200
14 1 sumtsBl 1 0 sl &j Cyd 6,21
fsdd hj| -3,200
15 1 sHMmsB 1 © s v Cyd 6,21
fsdjhj|l -3200
1 1dddzt 1 0 s 8 Syd 5,25
fsdjhj|l -6200
-1
2 1dddzt 1 0 s ¢ Syd 9,00
fsdd " j| -6200
T2
3 1dNddzt 1 © sl vj Syd 9,37
fsdjhj|l -6200
-3
4 14ddzg 1 © s vj Cyd 9,07
fsdjhj|l -6200
T4




5 1dddzt 1 © sl &j Cyd 9,37
fsdj " j| -6200
-5
6 14dddzt 1 © sl wj Cyd 9,37
fddhjl -6200
6
7 1dddzt 1 © sl & Cyd 4,75
fsd3d h 4| -6,200
7
8 1dNddzt 1 © sl vj Syd 4,75
fskd M| -6200
-8
9 14dNddzt 1 © s vj Cyd 4,60
fsd§ " j| -6200
-9
10 14ddzgf 1 © sl wj Cyd 4,60
fsdj " j| -6200
10
11 14ddzg 1 © s wj Cyd 4,56
fskd M| -6200
11
12 1dNddzt 1 © s vj Cyd 4,56
fskd M| -6200
T 12
13 14ddzgt 1 © s wj Cyd 4,60
fskd " | -6200
" 13
14 1dddzt 1 © sl &j Cyd 4,60
fskd M| -6200
14
15 14ddzgt 1 © s wj Cyd 4,75
fskd M| -6200




- 15

16 1dNddzt 1 0 sl &j ¢y 4,75
fsdd il -6,200
" 16

17 1dNddzt 1 0 sl wjSyd 9,75
fsddhj| -6200
" 17

18 1dnddg1 0 sl ajSyd 7.41
fsdd il -6200
- 18

19 1iNddzt 1 0 sl wjSyd 10,33
fsdd il -6200
19

20 1dnddg1 0 sl ajSyd 9,75
fsddhj| -6200
" 20

21 1dNddzt 1 0 sl wjSyd 10,14
fsd3j M j ¢ -6,200
" 21

22 1iddazt1 0 sl ajCyd 11,44
sk M| -6200
" 22

28 1dNddzt 1 0 sl wjSyd 11,22
fsddhj| -6200
- 23

29 1 idddzt1 0 sl v Cyd 10,14
fsdd il -6200
" 24

30 1iddazt1 0 sl wjCyd 9,75
fsdjhj| -6200

- 25




31 1dddzt 1 © sl &j Cyd 10,33
ftskd " | -6200
" 26

32 14dddzt 1 © sl wj Cyd 7,41
fsdjhjl -6200
- 27

33 14dNddzt 1 © s wj Cyd 9,75
fskd " | -6200
- 28

34 1dddzt 1 © sl ¢j Cyd 4,75
fsddhj| -6200
" 29

35 14dNddzt 1 © s vj Cyd 4,75
fskd " | -6200
- 30

36 1dddzt 1 0 s 4 Syd 4,60
fskd M| -6200
" 31

37 1dddzt 1 0 s ¢ Syd 4,60
fsdd " j| -6200
" 32

38 1dNddzt 1 © s vj Cyd 4,56
ftsdd " j| -6200
- 33

39 1dfddzt 1 0 s ¢ Syd 4,56
fsd3d M j| -6,200
" 34

40 1dddzt 1 © sl &j Cyd 4,60
fsdd " j| -6200
- 35

41 14ddzgt 1 © s wj Cyd 4,60
ftsdd " j| -6200




" 36

42 14dNddzt 1 © s wj Cyd 4,75
fsdkd " | -6200
- 37
43 1dddzt 1 © sl v Jy 4,75
fdihj|l -6200
- 38
44 14dNddzt 1 © sl wj Cyd 9,37
fskd " | -6200
" 39
45 1dddzt 1 0 s 4 Syd 9,37
fskkd " | -6200
" 40
46 14dNddzt 1 © s vj Cyd 9,07
fsdd " j| -6200
" 41
47 14dNddzt 1 © s vj Cyd 9,37
ftsdd " j| -6200
42
48 1dfddzt 1 0 s ¢ Syd 9,00
fsdd " j| -6200
" 43
49 14dNddzt 1 © s vj Cyd 5,25
fsdd " j| -6200
" 44
1 B3/ B Mis|1 © s vj Syd 13,5
-3,200
1 B3/ B Mis|1 © s vj Syd 13,5
-3,200
1 B3/ By Mis|1 © sl vj Syd 13,5

-3,200




1 a3/ diitn 10 sl ¢4 $yd 13,25
-3,200

1 B3/ B34 Misj 1 © sl v Cyd 13,25
-3,200

1 B3/ B34 Mis| 1 © sl v Cyd 13,25
-3,200

2 ] sHfmsB| 1 0 L 4 Syd 6,21
ftsdd " j| -3200

3 1 sumtsBl 1 0 sl &j Cyd 6,21
fskd M| -3200

4 1 sumisgl 1 © sl ¢j Cyd 6,21
fsd3d h 4| -3,200

5 1 sumtsBl 1 © sl &j Cyd 6,21
fsdj " j| -3200

11 B3/ d&3d Mis| 1 © sl vj Cyd 13,25
-3,200

11 &3/ d&3d Mis| 1 © sl vj Cyd 13,25
-3,200

11 &3/ d&3d Mis| 1 © sl vj Cyd 13,25
-3,200

11 o3/ diitn 10 sl ¢4 Syd 13,75
-3,200

11 &3/ &3 Mist 1 © I &4 Cyd 13,75
-3,200

11 &3/ B3y Mist 1 © I &4 Cyd 13,75
-3,200

12 1 sHmsB 1 © s v Cyd 6,21
fsdd il -3,200




13 ] sufmsB| 1 0 s 4 Syd 6,21
fsd3d M j| -3,200

14 ] sHfmsB| 1 0 L 4 Syd 6,21
fsddhj|l -3,200

15 ] sHfmsB| 1 0 S 4 Syd 6,21
fddhj|l -3200

1 B3/ B3d Mis|1 © sl vj Cyd 13,
-3,200

1 B3/ i3d Mis| 1 0 sl ¢4 Syd 13,
-3,200

1 &3/ i3d Mis| 1 0 sl &4 S yd 13,
-3,200

1 &3/ i3d Mis| 1 0 sl &4 Syd 13,25
-3,200

1 &3/ i3d Mis| 1 0 sl &4 Syd 13,25
-3,200

1 &3/ di3d Mis| 1 0 sl &4 S yd 13,25
-3,200

2 1 sumtsBl 1 © sl ¢j Cyd 6,21
ftsd3d " j| -3200

3 ] sHfmsB| 1 0 I 4 Syd 6,21
f sd3d M 4| -3,200

4 lwmMseqdq1 0 S 4 Syd 6,21
ftsdd " j| -3200

5 1 sHmsB 1 © sl v Cyd 6,21
fskd M| -3200

11 B3/ By Mis|1 © s vj Syd 13,25
-3,200




11 B/ ki1 0 Bl ajcyd 13,25

-3,200

11 B3/ B34 Misj 1 © sl v Cyd 13,25
-3,200

11 a3/ &3 Mst 1 © s8I v Syd 13,75
-3,200

11 a3/ &3 Mist 1 © s8I v Syd 13,75
-3,200

11 &3/ &3 Misg 1 © s8I &4 Syd 13,75
-3,200

12 1 sumtsBl 1 © sl &j Cyd 6,21

fsd3j " j| -3,200

13 1 sumtsBl 1 © sl &j Cyd 6,21
fsdj " j| -3200

14 1 sumtsBl 1 0 sl &j Cyd 6,21
fsdj " j| -3200

15 1 sumtsBl 1 © sl ¢j Cyd 6,21
fsdkd M| -3200

tOLHjdz 16. [ MMisOesj BM jets dqkkzh jMmMlsoaO o Mteswh j v (ML HO
fsd3ih jdzfdacsgbd L soOddy M ECOLOdj BB drn d&OL Z2O0yj dzdw d 4§ dzsh OH ]
sBttczHiso Odzdw, ftoj HdzZOL dgOyj dzdese s HdzW tsBMdzZEYy Jo OdedWw BISdzZj j UYJ B
9 MmO kg OcRdEEt] o Otlsdicdzse s HEBO o Mtrlse jlsMmisedd M NEE>dz(

16. 1. 1jtjyjdh fskiciddso®ddy f SOLOdk]jd dr doL

NV |IdH i [fdhModd] BjMmMs0 oMyt | OL 2Oy dzdj | ] dztsh Of
1 2 3 4 5

1 zE e
1 Il jmisdes jCydw 1 l jfmisdss d 11,25



consultantplus://offline/ref=3A93945D040493049A97AAF8F952DB58968654EFEB53B376179C23340896B3955660A81D5E2F0A27q8MCI

1 0 K3

7 1 Otz ) dal gj Cydw 1 1 Otelzy dzOW dzj 11,25
dzj s dzd 1 0 K3

8 vd nded ud g4 Sydw 1 v mdeduyd MG sy 10,92
sk jd 1 0 K3

11 Z dzv L g Sydw 1 z dzs L 6,48
1 0 LI

12 [ 4 Misded g Cydw 1 [ §MisdedyO 4,06
1 0 LI

13 1 sHfMB d g4 Sydw 1 ] sHfgasg ff sd3] 7,10
sk jd 1 0 K3

14 1 Omtsmdz gd Sydw 1 1 OfmtsmdzOW 13,35
1 0 K3

6 s dzOH 59 g4 Sydw 1 s ZOH s9 OV 4,30
1 0 &

7 Cdzj Clstetsh gd Sydw 1 Cdzj Clstetsh dIs 7,10
1 0 &

8 M s dzdz g Sydw 1 M s dzdz 4,54
1 0 &

9 [ 4 Misdeq g Cydw 1 [ §MisdedyO 15,42
1 0 t38d

10 v O d3Bhizdiy L gj Sydw 1 | d Misdzed yo 6,79
1 0 &

1* v Od3B Iz to g Sydw 1 v O3B Iz to 3,90

1 10y (d0O tslsds.
1 [ 4 Mmisded y g Cydw 1 [ 4 Mlsded ydzOW 19,69
Cdzj s¢ @ 1 10y (d0O tslisds.
2 [ EmMtesMB gd Cydw 1 [ EmBstesMB t5te dz( 4,10




Ok 6@

1 {150y .q088p Blsd

3 ststedH s g Sydw 1 ststed H Ste 29,71
1 11s0y (&0 slsds.
1* v OdB Iz te g Sydw 1 v OB Iz te 3,90
L IsOy ( dz0 &HR2E00) + 3,
1 [ 4 Misded y g Cydw 1 [ 4 Mlsded ydzOW 19,69
Cdzj s€ (@ L IsOy ( dz0 &HR2E00) + 3,
2 [ & Mt tistsigs g4 Sydw 1 [ EmMstesMmB 5 tc dz( 4,10
COd3J 6@ L IsOy ( dz0 &HR2E00) + 3,
3 ststedH S g4 Sydw 1 ststcd H StE 29,71
1 IsOy ( d2O0 &HRAP00) + 3,
1 [ 4 Mmisded y gd Cydw 1 [ 4 Mlsded ydzOW 19,69
Cdzj sC 1 IsOy ( dzO tslslalie ts o+d2459, 1640
1 2 Ekttse j dz )
2 [ EmtstesmB gjSydw 1 [ EMtstesMmB 5 te dz( 4,10
COzd @t IsOy ( dzO tslsklfe ts o+d2 59, '640
Qr 2 Ekttse j dz )
3 ststcdH s g Sydw 1 ststcd H Ste 29,71
sOy ( dzO0 slsllie s o+d2i59, 1640
Qr 2 Ekttse j dz )
1 [ 4 misded y g Cydw 1 [ 4 Mlsded ydzOW 19,69
Cdzj sC 1L IsOlgO (slsdz. -ERB&op B O) j 2
2?2 Ektetse j dz' )
2 s ZOH 59 g Sydw 1 s ZOH 9 OW 7,59
IsOy ( dzO fslstxlte ts o+d2j89, 1840
22 ktetse j dz' )
3 ststedH s g Sydw 1 stedHTSte 7,76
sOy ( &zO0 slsklie ts o+d2i89, 8]0
22 ktetse j dz' )
6 1 OMmsmdz gJ Sydw 2 1 Ofmts ) dzOw 13,35




1 O kel

Cdzj Clstetsh #d Sydw 2 Cdzj Clstetsh dIs 7,10
1 0 &
M s dzdz g Sydw 2 M ts dzdz 6,05
1 0 &
[ 4 Misdeq g Cydw 2 [ §MisdedyO 4,86
1 0 &
v O d3Bhlzdiy L gj Sydw 2 | d Misded yo 6,79
1 0 &
v O3B Iz te g Sydw 2 v OB Iz te 3,90
1 10y (d0O tslisds.
[ 4 Mmisded y g Cydw 2 [ 4 Mis ded ydzOW 19,69
Cdzj Is¢ @ 1 10y (d0O tslisds.
[ EfMstesmB gd Sydw 2 [ EfMstesMmB 5 te dz( 4,10
COd3j 6 d 1 10y (d0O tslisds.
ststedH s g Sydw 2 ststed H StE 29,71
1 Hs@EdzO tslsd3. 0,
[ 4 misded y g Cydw 2 [ 4 Mis ded ydzOW 19,69
Cdzj s¢€ (@ 1 IsOy ( &zO ©HZAHO00) + 3,
[ EfmMstesMB gd Sydw 2 [ EmstesMmB t5te dz( 4,10
COd3j 6 d 1 IsOy ( &zO ©H2ZAHO00) + 3,
ststedH s g Sydw 2 ststed H StE 29,71
L IsOy ( dz0 H220400) + 3,
[ d Mlisdad Y 1 dz"8C (wd Sydw 2) | 4§ Misdaed ydzOW 19,69
Cdzj s€ @i IsOy ( dzO tslstafe ts o+d2j59, 1640
1 2 ktetse j dz' )
[ EmMtesMB gJ Cydw 2 [ Efmste s B ¢3jc iz 4,10

COBj @1 50y ( dzO t5lstafie ts o+d2j50, 16,40
1+ 2 ksejd )




3 St H S g4 Sydw 2 Ststcd HiSte 29,71
1 IsOy ( d20 slsllie s o+d2i59, 16j0
aQr 2 kttsojdz )
1 [ d Misdzd y g Cydw 2 [ § Misded ydzOW 15,85
Cdzj sC 1 IsOy ( dzO tslsialie ts o+0d2489, 840
22 kttso j dz )
2 s dzZOH 59 g Sydw 2 s ZOH ts9 OW 7,59
1 sOy ( i28080)RActsotdz] o " J
25?2 Ektetse j dz' )
3 ststedH S g4 Sydw 2 ststced H Sto 7,76
1 1sOy ( dz0 s lslalie ts o+d2j89, '8j0
22 ktso j dz )
6 1 Omtsmdz gjSydw 3 1 OftsmdzOw 13,35
1 O X
7 Cdzj SIstetsh #d Sydw 3 Cdzj € stessO®V Is 7,10
1 O X
8 M s dzdz g4 Sydw 3 M s dzdz 6,05
1 0 X
9 [ 4 Misded #d Cydw 3 [ §MisdedyO 4,86
1 0 X
10 U O dzBhizdizs L gjSydw 3 | d Misdzd yO 6,79
1 0 X
1* v O3B Iz te g4 Sydw 3 v OB Iz tc 3,90
1 110y (dz©O tBlIsd3.
1 [ 4 misded y g Cydw 3 [ § Mlsded ydzOW 19,69
Cdzj s¢ @ 1 110y .Qq0ap tslisd3
2 [ EmMstcsmB g4 Sydw 3 [ mMstesMmB 5 tc dz( 4,10
COdBJ 6d 1 10y (d0O tslsds.
3 ststcdH s g Sydw 3 ststcd H Ste 29,71
1 10y (d0O tslsds.




1* v Od3B Iz to #d Sydw 3 v O3B Iz to 3,90
L 1IsOy ( dzO &HR2A400) + 3,
1 I d Misdzd y gd Cydw 3 | § Misded ydzOW 19,69
cdg @6 L 1IsOy ( dzO &HR2A400) + 3,
2 [ EmMtstesmB gjSydw 3 [ EMtstes B 5 te dz( 4,10
COd3J 6@ L 1IsOy ( dzO &HR2A400) + 3,
3 sBtcd H S gjSydw 3 stedH St 29,71
L IsOy ( dz0 &HR2E00) + 3,
1 I d Misdzd y g CBgw I § Mls ded ydzOw 19,69
CdzjIsC g1 sOy ( dzO tslstlie ts o+d2j59, '640
ar 2 ktetse j dz )
2 [ EmtstesMB gjSydw 3 [ EfMtstesMmB 5 tc dz( 4,10
CORzd @ IsOy ( dzO tslsklfe ts o+d2i59, '6j0
1 2 Ekttse j dz )
3 ststedH s g Sydw 3 ststed H StE 29,71
SOy (O tlaicriosdz 3, 60
1" 2 ktetse j dz' )
1 I d mlsded y g#d Cydvw 3 I § Misded ydzOW 15,85
Cdzj sC L IsOy ( dzO tslslalic ts o+d2j8s, "840
22 ktotse j dz' )
2 s ZOH 59 g4 Sydw 3 s ZOH 9 OW 7,59
sOy ( d2O0 ftslslaite ts o+d2j89, 8,40
22 ktotse j dz' )
3 ststedH s g4 Sydw 3 ststed H StE 7,76
s Oy ( dzO0 ftslsialic ts o+d2j89, '8j0
2?2 Ektetse j dz' )
1 dze2C
6 1 OMmsmdz g4JSydw 5 1 OfmtsmdzOW 12,68
1 0 kel
7 Cdzj SIstetsh g Sydw 5 Cdzj Clstetsh dIs 6,56




1 O kel

8 M s dzdz g Sydw b5 M ts dzdz 6,05
1 0 &
9 [ 4 Misded #d Cyqw 5 [ §MisdedyO 4,86
1 0 &
10 v O d3Bhlzdiy L gj Sydw 5 | d Misded yo 6,79
1 0 &
1* v OdB Iz te g Sydw b5 v OB Iz te 3,90
1 10y (d0O tslisds.
1 [ 4 Mmisded y #d Cydw 5 [ 4 Misded ydzOW 19,12
Cdzj Is¢ @ 1 10y (d0O tslisds.
2 [ EfMstesmB g4 Sydw 5 [ EfMstesMmB 5 te dz( 3,31
O34 6 O 1 10y (d0O tslisds.
3 ststedH S g Sydw 5 ststcd H StE 29,71
1 10y (d0O tslisds.
1 [ 4 misded y #d Cydw 5 [ 4 Mis ded ydzOW 19,12
Cdzj s¢€ (@ 1 IsOy ( &zO ©HZAHO00) + 3,
2 [ EfmMstesMB gd Sydw 5 [ EmstesMmB t5te dz( 3,31
COd3j 6 d 1 1sOy ( €#3R200+sH32400)
3 ststedH s g Sydw b5 ststed H StE 29,71
L IsOy ( dz0 &HR2300) + 3,
1 [ 4 misded y #d Cydw 5 [ 4 Mis ded ydzOW 19,12
Cdzj s€ Q1 5Oy ( dzO tslsialie ts o+d2j59, 640
1 2 ktetse j dz' )
2 [ EfmMtesMB g J Swds [ EmstesMB t5te dzd 3,31
COij @t Oy ( dzO tslslic ts o+d2j59, 1640
@ar 2 ktwse]jda )
3 ststedH s g Sydw b5 ststcd H Ste 29,71
1150y ( dzO tslslalie ts o+d2j59, 6j0




@ar 2 ktwsejdz )
1 [ 4 Misded y #d Cydw 5 [ 4 Misded ydzOW 15,86
Cdzj Is¢ @ dzO ts lstltc ts o+d2j89, "8G0
25?2 Ektetse j dz' )
2 S ZOH 59 g4jSydw 5 S ZOH s OW 8,19
dzO ts lstltc ts o+d2j89, T840
22 kttso j dz )
3 Ststcd H S #J Sydw 5 Ststcd HtSte 36,32
dzO ts lstlic ts o+d2j89, 18,40
22 kteso j dz )
6 1 Omtsmdz #J Sydw 5 1 OfmtsmdzOW 12,68
1 GsIs 8,800
7 Cdzj Clstetsh gd Sydw 5 Cdzj Clstetsh dIs 6,56
1 0 &
8 M s dzdz g Sydw 5 M s dzdz 6,05
1 0 &
9 [ 4 Misdeq g4 Cydw 5 [ §Misded yO 4,86
1 0 &
10 v O d3Bhizdiy L gj Sydw 5 | d Misdzed yo 6,79
1 0 &
1 dze8¢
1* v Od3B Iz to 44 Sydw 4 v O3B Iz ts 3,90
1 110y (dz©O tBlIsd3.
1 [ 4 misded y #d Cyqw 4 [ § Mlsded ydzOW 19,12
Cdzj s¢ @ 1 10y (d0O tslsds.
2 [ EfmMtesMB gj Sydw 4 [ EmstesMB t5te dzd 3,31
COdBJ 6d 1 10y (d0O tslsds.
3 ststedH s g Sydw 4 ststcd H Ste 29,71
1 10y (d0O tslsds.




| 4 Misded y g Cydw 4 [ J Mlsdzd ydzOW 19,12

Cdzj Is¢ @ 1150y ( dz0 &=HR2B00) + 3,

[ EmMtstes B gjCydw 4 [ st MmB tste dal 3,31
CO®y te @ 1sOy ( dzO &HRAF00) + 3,

Ststcd H S #d Sydw 4 Ststcd HtSte 29,71
L IsOy ( dz0 &HR2E00) + 3,

I s dzd yd gj Sydw 4 [ d Mlsdzd ydzOW 19,12
Cdzj sC€ @1 5Oy ( dzO tslstlie ts o+d2j59, 640

17 2 ktse jds )

[t f)s wjCydw 4 [ EfstetshB st dz 3,31
COBj @1 5O ( dzO fslskafic ts o+d2j59, 160
1 2 Ekttse j dz )

ststedH s g Sydw 4 ststced H Sto 29,71
1 IsOgoO (slsd. -EBBo @z 6) j 2
1 2 Ekttse j dz )

[ Is dzd gjCydw 4 [ j fls dzd ydzOw 15,86
jlsCdt Oy ( dzO fslsiites ts o+c28s, 180

252 ks d )

d M
C dz

s ZOH 59 g Sydw 4 s ZOH 9 OW 8,19
1 IsOy ( dz0 slsilic s o+d2i89, 8j0
sktese j dz' )

ststedH s g Sydw 4 ststed H StE 36,32
1 IsOy ( dzO0 s lslalie ts o+d2j8e, '8j0
2?2 Ektetse j dz' )

1 dzts&

ststed H s w6 ststed H s te 54,26

v O i3e-fzdes L dJ w6 v O d3e-hzde® L 8,40

] sHmsB d g fydw 6 ] sHfmB dzZOw ¢ 6,56




C sd3dzOIs 1 0 t-5,280
26 [ 4 Misded y g4 Sydw 6 | 4 Misded ydzOw 15,34
Cdzj € O 1 © t-5,280
27 1 O ts M dz( g4jSydw 6 1 OMmtsmdzOW 8,24
1 © -B280
50 ststcdH s g Sydw 6 ststcdH tSte 54,26
1 © -B280
51 [ 4 Mlisdad g4 Sydw 6 | d Misded yoO© dz0O 12,99
dzO tg Iz 3 dz( 1 © t-5,280
52 [ 4 Mlsdad g Sydw 6 | d Misded yoO dzO 11,64
dzO te Iz ¥ dz( 1 © t-5,280
6 1 Ot da( g Sydw 6 1 OMmMsmdzOw 12,68
1 © -B2R0
7 Cdzj Clstetsh g Sydw 6 Cdzj Clstetsh st 6,56
w 1 © -B2R0
8 mts dzdz g Sydw 6 mts dzdz 6,05
1 0 -B,280
9 | 4 Mls dzd g4 Sydw 6 ] 4 Misded yO 4,86
1 © -B2R0
10 v O dzB-hzdes L gjSydw 6 v O dzB-hzdes L 6,79
1 © -B2R0
1* v O3B Iz to g Sydw 6 v OB Iz te 3,90
10 tslsd3. 0, 000
1 [ 4 Misdzd u g4 Cydqw 6 [ 4 Mlsded ydzOW 19,12
Cdzj € O 10 tslsd3. 0, 000
2 [ EmstesMmB g Sydw 6 [ EmtstetsmB t5tc dzQ 3,31
COdj 6O 1 Gslsds. 0, 000
3 sBtedH s g Sydw 6 ststedH StG 29,71




1 0 tslsd 0,000
[ d Misdzd u g4 Cydqw 6 [ 4 Mls ded ydzOW 19,12
Cdzj ¢ O 10 tslsdz. +3, 200
[ EMmMstesmB g4 Sydw 6 [ EmMtstesmB t5tc dzQ 3,31
COd3d 6 0Q 10 tslsdz. +3, 200
ststcdH s g Sydw 6 ststcdH tSte 29,71
1 0 =48a@00
[ d Misdzd u g4 Cydqw 6 [ 4 Mls ded ydzOW 19,12
Cdzj ¢ O 10 tslsdz. +6, 400
[ efmMstesmB g Sydw 6 [ EmtstesmB t5tc dzQ 3,31
COd3d 6 0Q 10 tslsds. +6, 400
ststedH s g Sydw 6 ststcdH tSto 29,71
10 tslsdz. +6, 400
[ d Misdzd u g4 Cydqw 6 [ 4 Mlsded ydzOW 19,12
Cdzj ¢ O 10 tslsdk0 +9, 60
[ emstesmB g4 Sydw 6 [ EmstetsmB 5 tc dzd 3,31
COd3d 60O 10 tslsds. +9, 600
sBtedH TS g4 Sydw 6 SsBtedH G 29,71
10 tslsdz. +9, 600
[ d Misdzd y g4 Cydqw 6 [ § Mls dzd ydzOW 19,12
Cdzj ¢ O 10 tslsdz. +12, 80
[ emstesmB g4 Sydw 6 [ EmstetsmB 5 tc dzd 3,31
COd3d 6 Q 1 Otg. +12, 800
sBtedH TS g4 Sydw 6 SsBtedH G 29,71
10 tslsdz. +12, 80
[ d Misdzd U g4 Cydqw 6 [ 4 Mlsded ydzOW 19,12
Cdzj € QO 10 lsd3. +16, 00
[ EfmMtstesmB g Sydw 6 [ EmtstetsmB t5tc dzQ 3,31
COd3d 6 Q 10 lsd3. +16, 00




ststed H s g Sydw 6 ststedH StG 29,71
1 Gslsds. +16, 000
[ mlsded U g Cydw 6 [ § s dad ydzOW 19,12
Cdzj s QO 10 tslsdz. +19, 20
[ EfmMtstesMmB g4 Sydw 6 [ EmtstetsmB t5tc dzQ 3,31
COd3d 6 0Q 10 tslsds. +19, 20
ststed H s g4 Sydw 6 ststed H Ste 29,71
10 tslsdz. +19, 20
[ 4 misded u g4 Syqw 6 [ 4 Mls ded ydzOW 19,12
Cdzj € QO 1 Olstlg. +22, 400
[ eEMmMstesmB g4 Sydw 6 [ EmtstesmB tstc dzQ 3,31
COdzj 6O 10 tlsdz. +22, 40
ststcdH s g Sydw 6 ststcdH Sto 29,71
10 tslsdz. +22, 40
[ 4 misded u g4 Syqw 6 [ 4 Mls ded ydzOW 19,12
Cdzj € O 10 tlsd3. +25, 60
[ EMmMstesmB g Sydw 6 [ EmtstesmB t5tc dzQ 3,31
COdj 6O 10 tlsd3. +25,60
ststcdH s g Sydw 6 ststedH tSto 29,71
10 tslsd3. +25,60
[ 4 Mmisded y g4 Cyqw 6 [ 4 Mls ded ydzOW 15,86
Cdzj € O 10 tlsd3. +28, 80
s ZOH B9 ( g Cydw 6 s ZOH 89 OW 8,20
10 tslsd3. +28, 80
sBtedH TS g4 Sydw 6 SsBtedH G 36,16
10 tlsd3. +28, 80
sBtedH TS g4 Sydw 7 SsBtedH G 54,26
1 © -B280
v Odze-hzdes L gj Sydw 7 v O dzB-hzdes L 8,40




25 1 sHMBB d ] sHisB dZOW € 6,56
C sd3dzOIs
26 [ d Misded y | 4 Misded ydzOWw 15,34
Cdzj s€ O
27 1 O fmts ) dz( j Cydw 1 OftsmdzOW 8,24
ts-5,280
50 ststed H s j Cydw ststed H Ste 54,26
ts-5,2Q0
51 [ 4 Mis dzd j Cydw | 4 Misded yO© dzO 12,10
dzO te Iz % dz( ts-8,200
52 [ 4 Mis dzd j Cydw | 4 Misded yO© dzO 11,64
dzO te Iz % dz( ts-8,200
6 1 O M Wi da( j Cydw 1 O mdzOw 12,68
t5-8,2Q0
7 Cdzj Clstetsh j Cydw Cdzj Clstetsh st 6,56
w ts-3,2Q0
8 mts dzdz j Sydw mts dzdz 6,05
ts-3,2Q0
9 | 4 Mls dzd j Cydw ] d Misded yO 4,86
ts-3,200
10 v O dzB-hzdes L j Sydw v O dzB-hzdes L 6,79
ts-3,200
1* v Od3B Iz to gj Sydw 7 v O3B Iz to 3,90
O tslsdz. O
1 [ 4 Misded y gJ Sydw 7 [ 4 Misded ydzOW 19,12
Cdzj s€ O O tslsdz. O
2 [ mstesmB gj Sydw 7 [ EmMtstesMmB tstcdz@ 3,31
COdj 6O O tslsdz. O




ststed H s gj Sydw 7 ststedH StG 29,71
10 tlsdz. 0, 000

[ mlsded U o Wy 7 [ 4 Mls ded ydzOW 19,12
Cdzj s QO 10 tslsds. +3, 200

[ emstesmB g4 Sydw 7 [ EmtstetsmB t5tc dzQ 3,31
COd3d 6 0Q 10 tslsds. +3, 200

ststed H s g4 Sydw 7 ststed H Ste 29,71
10 tslsds. +3, 200

[ d Misdzd y g4 Cydqw 7 [ 4 Mls ded ydzOW 19,12
Cdzj IsC Q 10 tslsds. +6, 400

[ eEMmMstesmB g4 Sydw 7 [ EmtstesmB tstc dzQ 3,31
¢ Op3c O 10 tslsds. +6, 400

ststcdH s g Sydw 7 ststcdH Sto 29,71
10 tslsdz. +6, 400

[ d Misdzd u gg Cydqw 7 [ 4 Mls ded ydzOW 19,12
Cdzj € O 10 Blsds. +9, 600

[ EMmMstesmB g4 Sydw 7 [ EmtstesmB t5tc dzQ 3,31
COdj 6O 10 tssdz. +9, 600

ststcdH s g Sydw 7 ststedH tSto 29,71
10 tslsdz. +9, 600

[ d Misdzd y g4 Cydqw 7 [ 4 Mls ded ydzOW 19,12
Cdzj € O 10 tslsdz. +12, 80

[ emstesmB g4 Sydw 7 [ EmtstesmB t5tc dzQ 3,31
COdj 6O 10 tslsdz. +12, 80

sBtedH TS g4 Sydw 7 SsBtedH G 29,71
10 lsdz. +12, 80

[ d Misdzd U gy Cydqw 7 [ § Mls dzd ydzOW 19,12
Cdzj s€ QO 10 lsd3. +16, 00

[ emstesmB g4J Sydw 7 [ EmtstesmB t5tc dzQ 3,31




COWRj 6O 10 tlsd3. +16, 00
ststcdH s g Sydw 7 ststcdH tSte 29,71
10 tslsds. +16, 00
[ mlsded U g Cydw 7 [ § s dad ydzOW 19,12
Cdzj € O 10 tlsdz. +19, 20
[ it tc =ihEs) gj Sydw 7 [ EmtstetsmB t5tc dzQ 3,31
COd3j 6O 10 tlsdz. +19, 20
ststed H s g4 Sydw 7 ststed H Ste 29,71
10 tslsds. +19, 20
[ d Mmisdzd u g4 Cyqw 7 [ § Mlsdzd ydzOw 19,12
Cdzj IsC ©Q 10 tlsdz. +22, 40
[ EfmMstesMmB gj Sydw 7 [ EmtstetsmB t5tc dzQ 3,31
COdzj 6O 10 tlsdz. +22, 40
ststedH s g Sydw 7 ststcdH tSto 29,71
10 tslsds. +22, 40
[ 4 misded u g4 Syqw 7 [ 4 Mlsded ydzOW 19,12
Cdzj IsS ©Q 10 tlsdz. +25, 60
[ emstesMmB g¢J Sydw 7 [ EmtstesmB t5tc dzQ 3,31
COdzj 6O 10 tlsdz. +25, 60
ststcdH s g Sydw 7 ststedH tSto 29,71
10 tslsd3. +25,60
[ 4 misdzgw g4 Cyqw 7 [ 4 Mls ded ydzOW 15,86
Cdzj € O 10 tlsd3. +28, 80
s dzOH 59 ( gj Sydw 7 s ZOH 859 OW 8,20
10 tslsd3. +28, 80
sBtedH TS g4 Sydw 7 SsBtedH G 36,16
10 tslsd3. +28, 80
1 O ts M dz( g4 Sydw 8 1 OftsmdzOW 12,68
1 © -B,2R0




7 Cdzj Clstetsh gJ Sydw CESClstesh dIsts 6,56
w 1 0 -B,280
8 M s dzdz gJ Sydw M 5 dzdz 6,05
1 © -B,280
9 [ § Mlsdzd Y g4 Cydw [ iMisdzd yO 4,86
1 © -B,280
10 v O d3e-fzdey L j Cydw v O d3e-fzde® L 6,79
5-B,280
1* v OdB Iz to jSydqw 8 v OB Iz te 3,90
slsdz. O
1 [ 4 misded u g4 Sydw 8 [ 4 Mlsded ydzOW 19,12
Cdzj € QO O tslsdz. O
2 [ fmMstesmB g Sydw 8 [ EmtstesmB tstc dzQ 3,31
COdj 6O 10 tslsd3. O
3 ststedH s g Sydw 8 ststcdH tSto 29,71
10 Blsdz. O
1 [ 4 misded u g4 Syqw 8 [ 4 Mlsded ydzOW 19,12
Cdzj € O 0O Blsdz. + 3,
2 [ EMmMstesmB g Sydw 8 [ EmtstesmB t5tc dzQ 3,31
COdj 6O 0 G48ad00
3 ststcdH s gj Sydw ststcdH tSte 29,71
0 Blsd;. :
1 [ 4 Mmisded y g4 Cyqw [ 4 Mlsded ydzOW 19,12
Cdzj € O 0 Blsd;. :
2 [ EMmMtstesMmB gj Sydw [ EmtstesmB t5tc dzQ 3,31
COd3d 6 Q 0 tsilsds. :
3 ststcd H s gj Sydw ststcd H tSte 29,71
O tsls d9o :
1 [ 4 fmlsded y g4 Cydqw [ 4 Mlsded ydzOW 19,12




Cdzj s€ QO 10 Blsds. +9, 600
[ EMmMstesmB g4 Sydw 8 [ EmMtstesmB t5tc dzQ 3,31
COdj 6O 10 tslsdz. +9, 600
ststed H S g4J Sydw 8 sStsted H Ste 29,71
10 tslsdz. +9, 600
[ mlsded U g Cydw 8 [ § s dad ydzOW 19,12
Cdzj € O 10 tslsd3. +12, 80
[ EmMtstesMmB g4J Sydw 8 [ EmtstetsmB t5tc dzQ 3,31
COd3d 6 0Q 10 tslsds. +12, 80
SsBstedH S g4 Sydw 8 SsBtedH G 29,71
10 tslsds. +12, 80
[ d Mmisdzd u 44 Cydqv 8 [ 4 Mls ded ydzOW 19,12
Cdzj IsC Q 10 tlsdg. +16, 00
[ eEfmMstesmB g Sydw 8 [ EmtstetsmB tstc dzQ 3,31
COd3d 6 Q 1 Olstlg. +16, 000
ststcdH s g Sydw 8 ststcdH tSto 29,71
10 tslsd3. +16, 00
[ d Misdzd u 44 Cydqw 8 [ 4 Mlsded ydzOW 19,12
Cdzj IsS ©Q 10 tlsdz. +19, 20
[ EMmMstesmB g Sydw 8 [ EmMtstesmB t5tc dzQ 3,31
COdj 6O 10 tlsdz. +19, 20
ststcdH s g Sydw 8 ststedH tSto 29,71
1 Gsilsd3 +19, 200
[ d Misdzd u g Cydw 8 [ 4 Mls ded ydzOW 19,12
Cdzj € O 10 tslsdz. +22, 40
[ EMmMtstesMmB g4 Sydw 8 [ EmtstesmB t5tc dzQ 3,31
COdj 6O 10 tslsdz. +22, 40
sBtedH TS g4 Sydw 8 SsBtedH G 29,71
10 tlsdz. +22, 40




1 [ d Misdzd u 44 Cydqw 8 [ 4 Mlsded ydzOW 19,12
Cdzj € O 1 Otg. +25, 600
2 [ mstesMmB g4J Sydw 8 [ EmtstetsmB t5tc dzQ 3,31
COdj 60O 10 Blsd3. +25,60
3 stted H S gjSydw 8 sttedH StG 29,71
10 tslsd3. +25,60
1 [ d Mmisdzd u 44 Cydqw 8 [ 4 Mls ded ydzOW 15,86
Cdzj € O 10 tlsdz. +28, 80
2 s dzZOH 5o ( g Sydw 8 s ZOH 59 OW 8,20
1 Oktg. +28, 800
3 ststedH s g Sydw 8 ststcdH Sto 36,16
10 tslkds. +28, 80
16. 2. ljtjydde d ~rOtOCIsjtedMmisded Ijrmrdtsdtedyd MEsets d ddzy J daj
SHdsEts ftsd3j N jdzadw o HOdzdztsd3 H s5d3d
N \ff JfdmOodedj o3 ldH ®tBtStZzHTS MOtOCIsjted Mmly 1 OL dzOy4 di
te O fiyifftstsy § dzd W
1 2 3 4 5
1 dzeg ¢
1 g Sydw 1 zdls CoOtclsdtcds ! zs (odH 1) t OMf tcj HJ ¢
s9OtlsdtcO L dzj Slstets d
2 g Sydw 1 zdls CoOtclsdtcds ! zs (oadH 2) t OMf tcj HJ ¢
s9OtlsdtcO L dzj Slstets d
3 gj Sydw 1 z2dls 11Oy dgr 2 2611 6-°3RI+17|lvyyl d tOM
| ldped ydzOw € Ldzj Slstetst d
4 gj Sydw 1 z2dls 11Oy dgr 2 z2C11 7763 vyyl d tOfy
| 4 Misded ydzOW Ldzj SIstets d
(Hokzronktetsodzj o7
5 g Sydw 1 losH s EMmilstst l tv 212-10 vyyYls d tOf




Cdzj Sltetsh dlst

Ldzj Stetst d

6 g Sydw 1 t OMmMftej Hy dzdIsj dz' d Vli3BODLM[ 4 t OMmf tcj HJ g
Cdzj Clstetsh d Ist Ldzj Clstetst d
7 gjSydw 2 z2dIls CoOtclsdtecdz ] zs (eadH 1) t OMmf tcj HJ ¢
soOtlsdtcO Ldzj Clstetst d
8 gjSydw 2 z2dls CoOtlsdtedz ] zs (eoadH 2) t OMmf tcj HJ ¢
soOtlsdtcO Ldzj Clstetst d
9 g4j Sydw 2 z2dls 11Oy dgr 2 2611 6-°3R1+1"°|lvyyl d tOf
| 4§ Mlsded ydzOWw Ldzj Clstetst d
10 g4j Sydw 2 z2dls 11Oy dgr 2 z2G11 7763 LYY BOMY tej H
| 4 Misded ydzOW Ldzj Clstetst d
(Hokrztcsodzj o
11 g Sydw 2 l osHds] EMmistst 1t v12-10 vyYls d tOfm
Cdzj Clstetsh dIst Ldzj Clstetst d
12 g Sydw 2 tOmMyftei Hj dzdilsj dz¢ d VIt 3BOHLMm[ 4 t OMYf ted HJ ¢
Cdzj Clstetsh dIst Ldzj Clstetst d
13 g Sydw 3 z2dls Qs dtodz 2 ( zs (odH 1) t OMy tod HJ @
soOtlsdtcO Ldzj Clstetst d
14 gj Sydw 3 zdls CoOtclsdtcds ! zs (oadH 2) t OMf tcj HJ ¢
soOtlsdtcO Ldzj Clstetst d
15 g Sydw 3 zdls 11Oy dgr 2 2611 6-°3RI+17|lvyyl d tOM
| 4 Misded ydzOW Ldzj Clstetst d
16 g CBdw zdls 11Oy dgr 2 z2C11 7763 vyylk d tOfy
| 4 Misded ydzOW L dzj Clstetst d
(Hokzrkztctsodzj o

17 g Sydw 3 losHdts] EMmilstst 1t v12-10 vyYls d tOfm
Cdzj Slstetsh st 1 dzj Clstetst d

18 g Sydw 3 t OMmY toj H J dzd ldsj? dgylsd vli3BODLM[ 4 t OMmf tcd HJ

H ¢
Ldzj Clstetst d




1 dze2 ¢

19 gjSydw 5 z2dls C o Otclsdtecdz ] zs (eadH 1) t OMmf tcj HJ ¢
soOtlsdtcO 1 dzj Slstetst d

20 gjSydw 5 z2dIls CoOtclsdtecdz ] zs (eoadH 2) t OMmf tcj HJ ¢
soOtlsdtcO 1 dzj Slstetst d

21 g4jSydw 5 z2dls 11Oy dgr 2 z2G11 6r3R+17|lovyy b d tOM
I d Mis dzdf qalzg B G L dzj Clstetst d

22 g4jSydw 5 z2dls 11Oy dgr 2 z2G11 7763 vyylk d tOfy
| 4 Misded ydzOWw 1 dzj Slstetst d

(Hokoktetso dzj o

23 g Cydw 5 l osHds] EMmistst 1t v12-10 vyyls d tOfMm
Cdzj Slstetsh st 1 dzj Slstetst d

24 g Sydw 5 t Ofmftej Hj dzdIlsj dz' d vli3B0DHLM[ 4 t OMmf tod HJ @
Cdzj Slstetsh st 1 dzj Slstetst d

1 dze8¢

25 g4j Sydw 4 z2dls CoOtclsdtcds ! zs (oadH 1) t O toj HJ
soOtlsdtcO 1 dzj Slstetst d

26 g4j Sydw 4 z2dls CoOtclsdtcds ! zs (oadH 2) t O toj HJ
s © QftadsO L dzj Slstetst d

27 gj Cydw 4 z2dls 1 10Oy dgr 2 2611 6R°3Q1+17|vyyls d tw0Of
| 4 Misded ydzOW 1 dzj Slstetst d

28 giSydw 4 z2dl 11s0Oy dz 2 2C11 78763 oyl d tOf
| 4 Misded ydzOW 1 dzj Slstetst d

(Hokzrkztctsoadzj o

29 g Sydw 4 losHdts] EMmilstst 1t v12-10 vyYls d tOfm
Cdzj Slstetsh st 1 dzj Clstetst d

30 g Sydw 4 t OMmMftcj H] dzdIsj dz' d Vit 3BOYL M| 4 t OmMftej HJ

(
Ldzj Slstest d




1 dzts4&

31 g Sydw 6 zdIls CoOtlsdtedz 2 zs (eodH 1) t OMmftcj HJd
s9OtlsdtcO L dzj Clstotsi o

32 g Sydw 6 zdIls CoOtlsdtedz 2 zs (eodH 2) t OMmftcj HJd
s9OtlsdtcO L dzj Clstotsi

33 gJ Cydw 6 zdls 11Oy dzr 2 ( 2611 6-3dH1n vyyl d
[ § Mlsdzd ydzOW eOMmyted Hjd

Ldzj CzetBE

34 g Sydw 6 zdls 11Oy dzr 2 ( zG11 7:°63 byy s d
[ 4 Mlsded ydzOW eOMmytedHjd
(Hokrktctsoadzj o L dzj Clstetsi o

35 i Sydw 6 l otsHdzs] EMmlstet ]t v-12-10 byyls d
Cdzj Slstetsh dlstg tcOMmftej HJ d

Ldzj Clstetst O

36 gjSydw 6 t OMmifHe dzd Is j dz! dzts vlt 3BOLMS 4 t OMmftcj HJ d
Cdzj Slstetsh sty L dzj Clstotst

37 gj Sydw 7 z2dls CoOtclsdtcds 2 zs (oadH 1) t OmMf tcj Hj d
s9OtlsdtcO L dzj Clstotst df

38 g Sydw 7 zdIls CoOtlsdtedz 2 zs (eodH 2) t OMmMftcj HJ d
s9OtlsdtcO L dzj Clstotst df

39 g Sydw 7 zdls 110y dzr 2 ( 2G11 6-°3d¥ 1~ vyYls d
[ 4 Misded ydzOW ¢ cOmMf tcj HJ d

Ldzj Clstetst o

40 g Sydw 7 zdls 11Oy dzr 2 ( 2611 7-°63 vyYls d
[ 4 Mlsded ydzOW eOMmyfted Hjd
(Hokrkztctsoadzgj o L dzj Clstotsi

41 g4 Sydqw 7 ]l oatsHdzts] [fMlistet ]t v-12-10 vyYlIls d
Cdzj Slstetsh sty tcOMftej HJ d

Ldzj Clstetsd o7

42 gd Sydw 7 t OMmMftcd H] dzd Isj dz¢ dz vlt 3BOLM[ 4 t OMmftcj HJ d




Czj Clstetsh dlstg Ldzj Clstetst
43 4jCydv 8 z2dls CoOtlsdteds 2 zs (odH 1) t O tej Hjd
s 9 OtlsdtcO L dzj Clstotst
44 g Sydw 8 zdIls CoOtlsdteds 2 zs (odH 2) t OMmftej HJ d
s 9 Ofpts O L dzj Cletotst
45 g Sydw 8 zdls 11Oy dzr 2 ( 211 6-3dF1n byyl d
I d§ mlsdzed ydzOW O tej HJ d
Ldzj Clstetst
46 gJ Cydw 8 zdls 11Oy dzr 2 ( 2611 7763 byyl d
I d mlsded ydzOW cOMmytej HJd
(Hokokztetso dzgj o Ldzj Clstetst d
47 gj Sydw 8 lotsHdets] EMmilstet ]t v-12-10 byyl d
Czj Slstetsh dlst ttOMY tej H 4 d
L dzj Clstetst d
48 g Sydw 8 t OMmMftej Hj dzdlIsj dz¢ dz Vit 3BODDLM[ 4 it OmMftejHjd
Czj Slstetsh dlst Ldzj Clstetst d
{OLHjd 17. B cHYadjeditsj OdzdL Oydd ftesjClO Misetsdlsj d Mise O, o & dzs v
ktsds ydmodzi fjHYskOCO] Bdsds MesS | f§odkzyjddy ©OLtejh jddy d&O oo i
(ddzd) ddz' = tedighlsdse dzejHody d
17. J] Htedd3j tcdesdz |17.1.1 |[C O tjOdzdL Oydd ftsj s Mtesdlsj dz@ Mise (
ftotsj ClsO Mmistetsdlsj dz' 20 fftesyjdzlstse cwlstso dztsmisd
1 femMEtsots?2 St dzj € 1 dzts€C 1 (& J § yd
2 femMEtseoats?2 Coif dzj S 1 dztC 2 (& € Ycd
3 Mo € Qmosfldzi3 (uj Sydw 4)
2 tsyjtejH! Mistetsdls j dz2 Mlsea © 1 fkME o
g i Sydw 7;: wjSydqw 8);
40 ftesyjdzlstse ctslstso dzsfils d:
1 femMSseots?2 Stsditfdzj M 1 dzsC 1 (& S yd
2 femMStseots?2 St dzj € 1 dzsC 2 (& § Yy
3 femMStsoats? Coaff&iydy MEsc 3 (




2 tyjtejH! MistetsdIs jdz2 Mlsoe ©® 1 HkMEtse
g4 i Sydw 7 g Sydw 8) ;

60 ftesyjdzlstse cEtslstso desfisd:
1l femMScots?2 SRR dzj & 1 dzs€ 1 (& j S yoc
2 Mmoot CtdB3f dzi € 1 dzs€C 2 (& j € ygd
3 femMEtsoats? St dzi € 1 dzs€C 3 (¢ J € Yy
2ty tej H! MistetsdIs j dz2 Mlsoe © 1 HfEMEtse s
gjiCyuydw 7: wjiSydw 8);

80 ftesyjdzlstseo cwlsse detsfils ( :
1 femMitots?2 SR dzi & 1 dzs€ 1 (& J € yoc
2 fEmMSBsotc?2 Stdd3fdzj &M 1 dzs¢ 2 (] $yfgd
3 femMEtsots? Ctd3fdzi €M 1 dzs€C 3 (& j € yg
2 ByitwgBdlsidg! Mlseo © 1 Mot € 5di
g4 i Sydw 7 g Sydw 8) ;
fsdzzyjdedj tOLtejh jdzedw dzO 9 9tsH 8o : 1 Cf
1l fEemMScots?2 SR dzj & 1 dzsS 1 (& j S Yo
2 Mot Ctdd3f dzi € 1 dzs€C 2 (& j € yg
3 fezmMStse 521 RSBz (St S ydvw 4)
2 tsyjtejH! Mistetsdls j dz2 Mlsea © 1 fkMEBso
g4 i Sydw 7; g4 Sydw 8)

1712 |} zOdzdtelz j B 2 S o OtelsOdz d etsH o' f tsdzdzj dzd W

20 fftetsyjdzlstse cEBlstso detsfisd
1 fEmMStsoats? St dzj €y 4 dzts€j Sy -t j36) Y ¢
fitcor 2 CoOdelsOdz 2017
2 fbmMitots? CtsRf dzj €t jitedAasCd 2C o @dtg 1€ @l
3 fEemMStsots? Ctod3f dzi SN ytdas'C? 3C o Gdg € @
2 tyjtejH! MistetsdIs j dz2 Mlse © 1 HkME o
g i Sydw 7 uwfSfyggdmedBdisOodz 2018 ¢.

40 fltesyjdzlstseo e Blstse detsfis (:
1 femMicots?2 SR dzi & 1 dzc€ 1 (& j € yoc
fitcor 2 CoOtlsOdz 2017 aG.
2 fzmCtsots? € tsaxtlf & Ui SSEAESE? 2C d Otcls O df




3 fkMmMCtcots? Ctodiff dzj C o ls miAstE2 3¢ o @tg 1§ @y
2 ey H mMstetsdlIls j dz! Mlseo © 1 fEMEso 52
g1 Cydw 7: w2 8Fo0wIsOdz 2018

60 fftesyjdzlstse ctlsse datsfils ( :
1 femMitott?2 SR dziCfp 1 dzc€ 1 (& J Sy
olststots?2 Q296 ORBIs®dz
2 Mot Ctod3f dzj Cho BteltisX Qo @ taxlg Q@ dy ¢
3 femMStsotcs? SCtd3f dzj S Mo s telAistE2 3¢ o @&tg 1€ Qi
2 tsyjitejH! MistetsdIs j dz2 Mlso © 1 HkME o
giCydw 7; wufgytcB)? CodtlsOdz 201
80 fltesyjdzlstse cwlsse datsfis( :
1 femMicots?2 SR dZiL o dBSHGgdL Z-u & YT
olststets?2 C9O0tlsOdz 2017 ¢.
2 fmMStsots? Stsdif dzj Cifig jisdrig feis?2 2 (€ . Ot6(
3 Mot ?2 SR dj SifiyjisdrgIcis3 2 (€@ .Otpd
2 tsyjitejH! MistetsdIs j dz2 Mlso © 1 HkME o
g i Sydw 7; wgbtggw 8F o OISOz 2019
fsdzzyjdedj wWOLtjh jdedY dzO 99 t5H 9 4 Cf
1 fEmMStsoats? St dzj € 41 dzts€ 1 (-& j § Yy
fjtcor 2 CoOtelsOdz 2018 ¢.
2 fzmMStseats?2 Stdf dzj So 9 A2 26 o GtglE Qd
3 femMStsodrgX M dgfts S 3 o(lsusjicdsPd € o D)cls O d]
2 tsyjtejH! Mistetsdls j dz2 Mlsea © 1 fkMEso
g i Cydw 7 wuShHdytcB)?2 CodilsOdz 201

{OLHjd& 18. [ fdOddik] B2 fissddsilsd flstsdls  d s oo 1K @) tdzjHHOxE

18.1. [ §&Oddtlk,j d{18.1.1

fMlstesdlsj d Mise O

) ZOdzd telz j BOW  fyls s d dsts ) IS2082R86MRI] Is j dz' Mlso O (

f OLHjd& 25.

RA&zOW, dzj fslsdottj yoOh OW L OCdasHOlsj dz







